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§7.076 FINANCIAL ACCOUNTING
ST . Paper : BC-101
ECIER 30.550 T:zz : Taree Hours] [Maximum Marks : 80
T Note : Attempt five questions in all. Question No. 1 is
TFR H 9.000 4
T 57 500 compulsory. All questions carry equal marks.
7.5
o0 = 161 Tz . 7 O T whm A W 1 ofEE ' ows
_ 15000 = #F TAF %I
| S W W T 750 . . Compulsory Question (3TT7Emd WF)
L TIFE T (31.03.2013) 3,775
: , . : 2 1. (= Write a note on Real Accounts. Give suitable examples?
7,076 . .  eqes
= {by Show the effect of these transaction on assets, liabilities
arRifrem : ' and capital through accounting equation:
; T ' —_ g
: 01-04-2012 |31-03-2013
, 03-2013 : (i1 Staried business with cash 1,00,000
N < ’ {iiy Paid ren: in advance 3,000
. 240 280 (ili) Purchased goods for cash from Mr. X 50,000
64 100 (iv) Purchased Fumiture from K Bros. 20,000
8 810 9.740 (v) Sold goods for cash 60.000
Sumoo 2,80 (Cost of Goods Z 40,000)
. . (vi) Bought Motor-cycle for personal use 30,000
40,000 38,000

(viii) Salary Outstanding 5,000

(¢) What do you mean by Current Assets? How they are
different from Liquid Assets?
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(d) Make Journal entries :

(i) Bought goods from Kamal for ¥ 30,000. He
offered a trade discount of 10% and a cash
discount of 2%. Kamal paid 60% of the amount
immediately.

@) T 10,000 was due from Mr. X who became

insolvent. Only 40 paisa in a rupee could be
recovered from his estate.

(e) Explain important features of Receipt and Payment

Account.
(F) I=mF @@ W T e faw IugE SR
m;:.ga_

(@) ¥ EEnl w1 T, qfaeE o9R T W S
T ® WY g9 fEwmEwy

7
() UFT B WY AR T TFEA 1,00,0
Gi) T = efim gmm fe 3,000
Gii) fo. T 9 Fwgell & TR FF FA 50,000
(v) ®. 959 ¥ FHAER B 20,000

W) FEgsl w1 TR fawa 60,000

g F AFE Hqed T 40.000)
(vi) =Ifsae W % faw "Jeen

EEREY 30,000
(viii) 3T&@ & 5,000

() e wefE 9 ooy = THES ¥ § wWe wefad

g g wR o= &7
12001/18,000/KD/613 2

(%) YsAmEn yigfeal s
@ FHA ¥ T 30000 F FTFL FA F W 10%
ARE w2 R 2% THS g2 HF yEE fwE
FOA T 60% UM H G YA w I

@) # T faEd T 10000 R @ fafwa @
T SEE gWE | 1 T9C A 40 T @ W=
B gFI

() wfw R 9 TR #1 g e s

2. What is the difference in Accounting Concepts and
Accounting Conventions ? Explain the main accounting
conventions used preparations of accounts ?

SEFT ST SR orEieR afafed § wn SR R
FH AR FiTol

3. A book-keeper finds a difference of ¥ 2,728 (excess Credit
in his Trial Balance which he placed in a suspense account
Later the following errors were-detected. Pass rectifying
entries and prepare suspense account.

(a) T 825, the total of the purchase return book has beer
posted to the debit of sales return account.

(b) Goods purchased from Suresh ¥ 1,800 were recordec
in Sales Book as T 180.

() A B/R for ¥ 420 was received from Ravi for which a
entry for ¥ 4,200 was made in Bills Receivable book

(d) An item of ¥ 328 written off as bad debt from Ajay ha
not been debited to Bad Debts account.

12001/18,000/KD/613 3 (£ 1.0



() Goods returned to Ramesh ¥ 2,600 was correcils
recorded in Return Outward Book but posted to his
account as I 260. .

() A sum of ¥ 2,210 stolen by ex-employee stand debited
to suspense account.

(8) A sum of ¥ 500 written of as depreciation on Machinery
was not posted to Machinery account.

TF K T H 9 ae9e A T 2,728 w1 SRR faen

(T wfee) St I & et W) ¥ T e 9=

¥ frafafes smfes 7@ €@ gur wafes sifag ein

I R TR

(F)FHT o0 TE F T T 825 Toww au wE F
fge o wfawe = @ mm

(F) QW ¥ T 1800 F TN 71 F9 & o HEI
T8 ¥ ¥ 180 WX fEm

(M & VT T 20 F I a9 o gen
afe s faus 58 H T 4200 = & WL
(9) o797 ¥ T9a WU B T Y ewfafad T 328 Y UR
T ggd ®O @R H efae TE & W

(F) T & T 2,600 1 TG F A9 FH avRy 9
" 9w faE fru oWy ¥ osER @R ©
T 260 H WA w G T

(M) @ FEEE FW T 2210 F A0 ITH WR T
fge ¥ drg 2

(®) wd W e7ufefem s &1 T 500 F7 b
o # gt o ow w

12001/18,000/KD/613 4

4.

From the following ledger balances of Mr. Ramesh, prepare
a Trading and Profit & Loss A/c for the year ended 31st
March, 2015 and a Balance Sheet as on that date after
making necessary adjustments :

Particulars Amount

4
Trade Expenses 800
Freight & Duty 2,000
Carriage Outwards 500
Sundry Debtors 20,600
Furniture & Fixures 5,000
Return Inwards 2,000
Printing & Stationery 400
Rent, Rates and Taxes 4,600
Sundry Creditors 10,000
Sales 1,20,000
Return Outward 1,000
Postage and Telegram 800
Purchases 82,000
Stock on 01.04.2014 15,000
Plant and Machinery 20,000

(01.04.2014)
Plant and Machinery 5,000
(additions on 01.10.2014)

Drawings 6,000
Capital 60,000
Loan from Mrs. Ram (01.07.2014) ‘ 20,000
Reserve for Doubtful Debts 800

12001/18,000/KD/613 5 [P.T.O.




w, ) ‘ Rent from Premises sublet 1,600 fawa g 2,000

Insurance Charges 700 BT R R 400
w&m.ﬂw@m and éﬁmOm ngwOO gw NN @ﬂ.m FT Nrmoo
Mmmw-_s.wmsm NM,MMN fafay &R 10,000
as t )
¥ Ma mw fora 1,20,000
ustments:
ERE ] 1,000
(a) Stock on 31st March, 2015 was valued at T 14,000. s
(b) Write off ¥ 600 as bad debts. Provision for doubtful S 800
debts is to be maintained at 5%. L 82,000
(¢) Provide provision for depreciation @5% p.a. on . 01.04.2014 1 =IF 15,000
Furniture and Fixtures and @20% p.a. on Plant and , 1 fafEm 993 o gy 20,000
Machinery. (01.04.2014) .
(d) Insurance prepaid was ¥ 100. . A F oifafes g9 ok Tefh 5.000
(e) Interest on Loan is unpaid. TR 6,000
(® A fire occurred in the godown on 30th March, 2015. .@ 60.000
Stock valued ¥ 5,000 was destroyed. Insurance - 3 = 5 ,
company admitted claim of T 4,000. ™ . (01.07.2014) =7 0,000
#t W F F oEm WS 31.03.2015 F TR g T o, SR R L 800
% U SR RN +@ g waie '@ ek - . gfer w1 Ul 1,600
-T @R AR Y qen °% fafy ¥ feufy feer 0 = 700
T ARG Ia R weRd 21,300
T T TFE T © 6,200
=T = 800 & : 20,500
T @R e 2,000 HTES:
TE M e 500 (i) 31.03.2015 w1 =fF F g T 14,000 ¥FH T
fafay IR 20,600 (i) 39 =O T 600 sufafed =ifse wxfy sof &
FAR iR R 5,000 o 5% ® R WV WauA fraw S B
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@%%wﬂﬁﬂﬁ?ﬂﬂm%ﬂmﬁ
%ﬂwosmﬁﬂﬂﬂ@%%@mﬁﬁ
HifSQ

(v) gaga s % 100 oM

() EU W EE @

(i) 30.03.2015 W TEE H e T T T 5000 T
w1 ©F T 8 T A w3 T 4,000 H T

wEr fF

What is Accounting ? What are its main objectives 7 How it

is useful to the Management.

,.“_adﬂu@ms%ﬂwﬁﬂﬂm@%%;%@

@ﬁﬂm%ﬂm%@%ww

(a) What is Capital Expenditure? Give four examples of
Capital Expenditure? ]

(b) On 1st April, 2013 R & Co. purchased a machinery for
Z 74,000 and spent I 4,000 on its repair and X 2,080
on its installation. On 1st April, 2014 the firm purchased
another machinery for T 20,000. On 1st October, 2015
the machinery purchased on 1st April, 2013 was sold
for Z 56,000 and on the same date, a new machinery
was purchased for Z 50,000. On 1st October, 2016, the
machinery purchased on 1st April, 2014 was sold for
¥ 4,000. The company writes off depreciation @ 15%
p.a. on written down value method. Show Machinery
account for 4 years assuming that books are closed on

31st March every year.
(&) g o Y wEd P T W ® WE IR
et S

12001/18,000/KD/613 8

(@)1 a0, 2013 & W W HF A T 74000 &I
TF WY T ok IEE AEHE W T 4,000 AR
SUHE TN W T 2000 F9 TRU 1 QA 2014
H wH A TE e weRa ¥ 20000 9 w@EN
| o7y, 2015 #1 1 o9&, 2013 ¥ @{el Heied
T 56000 ® @9 & IR = A, ™ T Wi
T 50000 H WU 1 SRR, 2016 W, 1 0
2014 B @G Teieh T 4000 H w9 ST @
15% o ® W § owfafen wa oy @ @
TR 71 4 T6 @ weihd T Reny, 9% "Ed gl
fF g W oad 31w W e B g

7. What is the difference between :
(a) Consignment and Sales.
(b) Proforma Invoice and Account Sale.
B §9 w oewR ¥
(%) 9o 3R fam
(@) gEd dww R fawa faEo

8. Mr. X of Mumbai consigned 1,000 cases of goods costing
¥ 100 each to Mr. Y of Chennai. Mr. X spent ¥ 1,000 on
carriage, T 3,000 on freight and ¥ 1,000 as loading charges.
Mr. Y sold 700 cases at ¥ 140 per case. He incurred the
following expenses: Clearing Charges ¥ 850; Storage ¥ 1,700;
Selling expenses ¥ 600. It is found that 50 cases have been
lost in transit and 100 cases are still in transit. Mr. Y is entitled
to a commission of 10% on gross sales. Draw up consignment
account and Y's account in the books of Mr. X. Give proper
working notes.

12001/18,000/KD/613 9 [P.T.O0.




s oA

g # oft T A ¥ 100 W Sl s ® 1,006

TR A R A O F W A T Y T T w

T 1000 W W T 3000 I TEH W T 1000
fFm ot 9 A 700 TR T 140 W v % feEw 9@
+9 frw s fra =@ fw: et s T o8s0; dmm
=5 ¥ 1,700; fawt =14 T 6001 ¥ W T fF T W
50 99 TF B MY SR 100 TR oft sff TR H ¥
o W wEd W O10% wHeE faert )

yo; T oY AR A T w TRl 4 9 % S

- wamu P sl A R

iy ‘9, .:¥From the following particulars of a Charitable Hospital prepare

Income and Expenditure Account for the Year ended o

_ 31st March, 2013 and Balance Sheet as on that date.

Receipt and Payment A/c for the year ending on
31st March, 2013

Receipts S
To Cash in hand (01-04-2013) 7,13G
To Subscriptions 47,995
To Donations 14,500
To Interest on Investments @7% for full year 7,000
To Proceeds from Charity Show 10,450

87,076
Payments |
By Medicines 30,590
By Doctor's honorarium 9,060

12001/18,000/KD/613 10

By Salaries 27,500
By Petty Expenses 461
By Equipment 15,000
By Expenses on Charity Show 750
By Cash in hand (31.03.2013) 3,775

87,076

Additional Information:

01-04-2012 31-03-2013

4 4

Subscription Due 240 280
Subscription received in advance 64 100
Stock of Medicines 8,810 9,740
Estimated value of Equipments 21,200 31,600
Building (cost less depreciation) 40,000 38,000

@ Yege m w Fefaten feRel @ 31.03.2013
T wHw T A § TN AW TE i WA FRY AR
g fafy =1 feufd fas GOm =it

31.03.2013 &7 TUTE & & T Wit oK T @
il 4

JFE TWRY (01-04-2013) 7,130
== 47,996
T 14,500

12001/18,000/KD/613 1 [P.T.O.
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BCE/D-17 12004
COMPUTER APPLICATIONS IN BUSINESS
Paper-BC-104
Time : Three Hours] - [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks.

A : FA U WA ® SW AW 79 FEm | afEd B
T T B ofw wEA F

1. Compulsory Question ( 3FEa™ wyv)
(a) What are the characteristics of computers.
(b) Explain the working of dot matrix printer.
(©) ﬁ.&& is Utility software ? Explain.

(d) What are the hardware requirements of networking.
(4x4=16)

(%) FgR #1 w7 fawiwad 82

(@) ek Wmm i N FE-yowe B wEEE
(M R Wiedm 7= 22 g

(W) JeafEn & fau T W smEvEward F E)

2. Explain the components of a digital computer ? Explain the
working of each component. 16

Tw fefed 9@ & ST #1 GHARY Y&F IIH
F FE F GEERT

12004/18,000/KD/675/Trans. [P.T.O.



Explain various memory devices used with computers.
16

g A ygw A= 9m Iuwel ® gwmmEn

What are the different types of Computer Languages
available ? Explain in detail. 16
fafe= yR # sTE FR T T ¥ PraRyEE
HHART!

What is an Operating system ? Explain different types of
Operating systems. 16

TF fen fawm w0 g 2 fafim wer @ sfafen
fo=a = gugEu

Write in detail about the features of word processors. 16

9% Jew w1 favmet ® R o fawwgds fafau

How we create worksheet in MS-Excel. What are the
components of worksheet ? Explain. 16

T4 MS-Excel ¥ aa¥ic 4 1 %3 §? ™ v &
WFE T B2 T wifw

What do you mean by Networking ? What are the different
topologies of networking ? Explain. 16

FeafeEn @ v w e 22 deafEn 1 fafee e
T ¥ [OIE

12004/18,000/KD/675 2

9.

Explain the following :
(a) Open Source Software.

(b) Database Management Software.
frafafas w1 gwgme .

(F) S Frd |

(@) TeRw e i

(2x8=16)

12004/18,000/KD/675 3
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BCE/D-17 12011

COMPUTER FUNDAMENTAL
AND LOGICAL ORGANIZATION
Paper-BC (VOC) 105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

AT . FF U yE F IR Y TR wEm 1 AfEd B

1. Compulsory Question (3tFard wes)

(a) Explain the term Clock of Circuit.
(b) What is Optical Mark Reader (OMR) ?
(c) Write two applications of counters.

(d) Write two differences between magnetic tape and
magnetic disk storage ?

(e) What is open source software ? Explain. (4x5=20)

(F) ‘7= dfF wfee’ | F IHERT

(@) afesar 7% frel (AMR) #0127

(M FRR * F sgwEm fafaw

(%) FHfew 3 g dnfew o @9 & &9 @ oW

fafemu)

(¥) " 9" SrREm F R gEeEu

12011/2,300/KD/697/Trans. [P.T.O.



Why are the input devices important for the computers ?
Explain any four input devices. 15

TR ITE, YR F AU A ovewge 27 fRe W w
TG ITHRCN H AHART

(a) Differentiate between EPROM and EEPROM. 6
(b) Explain the working of flash memory. 9
(%) EPROM de1 EEPROM & ¥ | =awrul

(@) =9 98 owE yore ® wHeEn

Explain the function of D flip flop using a suitable diagram
and discuss how its work as a latch ? 15

€ fRma-%ma (D flip flop) & %@ # Sugew a3 &
SYEM gR WEEREU d 99 Fiw R 9w uw o
(R # TE@ F§ wE FT@ 2?7

What do you mean by I/O Controllers ? Explain Functionality
of I/0 Controllers. 15

IO FIER | MTH 7 3 €2 /O FASR F1 FrEawTar
F THAEY

What are the different types of computer Languages
available ? Explain in detail. 15

fafi vl # ST FUR dWEW F ¥ frangEw
BLEHY

What is an operating system ? Explain different types of
operating systems. 15

TF HMfen foem s 3?2 faf=s wo| ®  sfqfen
fo=n =1 THEREn)

12011/2,300/KD/697 2

8.

Write in detail about Linkers, loaders and translators. 15

fawd, oied aun digex # IR ¥ faemEs fafau

Write short note on the following :
(a) Addressing modes.
(b) Zc_mv_oxmnm.

frefafes w dfax e fafex

(%) w2fgn wrel
(@) AT

(2x7Y2=15)

12011/2,300/KD/697 3
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BCE/D-17 12012

COMPUTER APPLICATION BUSINESS DATA PROCESSING

AND PC SOFTWARE-I
Paper : BC-106

Time : Three Hours] . [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory.

M : FA U WA P SW AT weT qew 1 efEd d

1. Compulsory Question ( 27fard wyT)

Answer all the following :

(a)
(b)
(c)
(d

(e

Define Information and Types of Information.
Discuss Insertion in Serial-file-organization,
Discuss the use of Macro in Excel.

Name four mathematical functions used in Excel.
Discuss any one.

What is Data Editing ? (4x5=20)

= wsdt # 3w dfv .
(F) g1 991 g9 & YER & uiifve st
(@) Hifgd-wrRa-dae™ & 399 (Insertion) 1 ==

Hife)

(7) Excel ¥ ¥% & Iw@m &1 == #ifm
(9) Excel ¥ W& WR TUEE Wedl & A9 SRy

ot T W == wifsw

(%) T ufefen &= T 22
12012/2,300/KD/518/Trans. [P.T.O.



Define Data, Information and their difference. Explain
characteristics of Information and operations on Information.
15

T A I ! IRWIGG FiWC, qo0 I SR Fawul
= F favivae g gEA W SOeE @ wwmEmu

Define file, RECORD and Types of file. Explain Direct-file
organization.

wed, e o wEa € yE™ e gftam s
TRE-FEA HIASH S FHAET
Explain the applications of WORD and discuss Mail-Merge.

15

WORD % U %I JHART a1 TA-T8 W=t
FIfT

In context of WORD, explain the following :

(a) Spell Checker.

(b) Table Handling.

(c) Use of ClipArt and Word-Art. 15
WORD % i # =1 % wmemu .

(F) Ta =+

(@) e Eefem

(M frmm-sri g FE-am w1 oITEm

In context of MS-Excel, explain the following :
(a) MOVE and COPY.

(b) SUM and Average.

(c) Editing and Formatting cell.

12012/2,300/KD/518 2

MS-Excel ® ®ed o fm = gusmy
(F) g qen HdH

(@) IrT qen 3l

(m & F wfefam qw wERE

Explain INS and DEL in Index-SEQUENTIAL files. 15
Teq-fasd FEeh ¥ INS 91 DEL + WWEEU

(a) Discuss Chart function in Excel.
(b) Use of IF statement.
(¢) Use of Formula in Excel. 15

(%) Excel ¥ 9 Wem # w9 HiaQ
(@) IF LH &1 394
() Excel § §F T 94

Write notes on the following :
(a) Libra Office.
(b) RDBMS. 15

frafafes w e fafax .
(%) faan  siffegl
(@) .. THTE.|

12012/2,300/KD/518 3
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BCE/D-17 12013

COMPUTER FUNDAMENTALS AND
BUSINESS DATA PROCESSING

Paper : OMSP-BC-105

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

A

1.

.
.

compulsory.

7o ute T ® I dfFw W wem 1 sfeEd @

Compulsory Question ( AfEEd ww)

Answer all the following :

(a)

(b)

(©)

(d)

(e)

Define Hardware and Software of a computer system
with two examples of each.

Convert (37.75),, into a binary number and back to
decimal.

What is an Assembly language ? Write two advantages
and two limitations of writing computer programs in
assembly language.

Differentiate between File and Folder in Windows
environment,

What is Real time operating system ? Give one example
and one application area of a real time operating
system. (4x5)

12013/1,100/KD/698/Trans. [P.T.O.
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(@) (37.75),, F TEH s § Ton AE e H
waiafE il

Qvﬁﬂ%@&gﬁ%ﬂgﬂgﬂ%%%&a
m@d»%&ﬂﬁmﬁ%q%%ﬂmﬂ@
Eaisi

Amvmﬁﬂﬁﬂsmﬂ@ms%ﬁmﬂﬂ%_

@ﬂm%%@ﬂﬂ%%ﬁmmﬂ
%aﬂnﬁmﬂﬁﬂsgmﬂmﬂ%ﬁ
FaATZC

(a) List the various functions performed by ALU (Arithmetic
Logic Unit) of a computer system categories wise. 9

by What are Flash memories ? Write their advantages over
Magnetic memories. 6

(=) SofEg T8 T o fawes & ALU (Airthemetic
Logic Unit) 310 f#T < T e w0 g
TS

avﬁa%ﬂww%gﬂaﬂmﬂ%
wna fafau)

Write notes on the following Input devices used in a
computer system :

(a) Mouse.
(b) Keyboard.

(c) Touch Screen Monitors. (5x3)

12013/1,100/KD/698 2
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Fom fgem TR frofefan T RE W W
.Tnnqr@.ﬂu

(%) I39!

(@) F1-8)

(m == foem =@

In Windows operating system, explain o methods for each
of the following operations :

(a) Tosavea File and a Folder.

(o) To Rename a File and a Folder.
(¢c) To delete a File and a Folder.
.,wﬂﬂ%ﬁm.nﬂﬂﬁmﬁa%%m%&
fafuar fofEe -

(5x3=13)

(F) FEA T HIER F ¥F FEN
(@) ®3a 9 Freer ® f39 (Rename) FAN
(M) FEA q TS = fefee &M

Corvert (4710 and (23)1p decimal numbers into binary and
perf>rm addition and subtraction in (2's complement form)
as

(a) 47+ 23
(b) 47 - 23
(c) -47 +723

(d) -47 - 23. (3.4,44)

[P.T.0.



(47),, T (23),, Ve il ® Tl § wwala 8. (a) Explain that High level languages for programming are
C FIAT [ AN F WS (2 F TF €9 ¥) S 9w easy to learn and use. Comment. 7
FfST (b) What are the advantages and disadvantages of High
level languages ? 8
(F) 47 + 23 . .
(%) TAgme & wmfen & fo e daw Faw o 3
9) 47 -23 . <
(=) SN FE Y TEE ®? feweh i
Ad |A\N + NW UL * ] N q
v (@) TR T HES F oA AW S whE #
) (") -47 - 23.
9. Explain the following data processing activities :
6.  What are the following characteristics of Windows, explain : .
(a) Data Updation.
Plug-and-Play.
AMV L cm. ww a q (b) Data Transaction.
ogin-Password.
M W D g c ) (c) Data Analysis. (5x3=15)
c ata Compression. . )
(d) User Friendly. (3.4.4.4) Fefafes s@ srfen e w1 g
fiers (Windows) ®t freiffan favivand w1 ¥, Toemew - () /1 7T
(F) w-te-| (W) T AR |
(@) HhrEA-TEae (M) T TrEE
(M) T FEHIH
(%) TR wee
7. Operating system is a Resource managing software of a
computer system. What resources are managed by operating
system ? (7,8)
FARfen fowen, YR fmew w1 w@yT  TeuTEH
(Resource Managing) Wiweam 2| sifmfen faww T
FA-Y A wERE By 37
12013/1.100/KD/658 4 12013/1,100/KD/698 S
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(%) Gglae sfRfen faem

BCE/D-17 1201.

(@) Wede Feaw | INTRODUCTION TO COMPUTER APPLICATIONS

() weafen ® fou sTEveE widEv

Note :

e

Paper-OMSP-BC-106

Time : Three Hours] [Maximum Marks : 8

Attempt five questions in all. Question No. one i
compulsory. Attempt any four questions out of remainin
eight questions.

T WA Y F IR G v e 1 e
I e T A ¥ R ER W @ R Hfg

1. Compulsory Question ( 37fard wyw)

Answer the following questions in brief :

(a)
(b)
©

(d)
(e)

What is CPU? Explain its main components.
What do you mean by Word processing? Explain.

Write down the names of any three operating system
used in tabs.

What do you mean by open source software? Explain
What is World Wide Web (WWW) ? (5%4=20

frafafes s = Sw dem § e .

(F) Mg, (CPU) 7?7 WS T WH F TUUET
(@) o€ wRfen ¥ ouw w=oaed 22 guemy

(M W H TR R 7 e fowm ® am fafag

12014/1,100/KD/700 4 12014/1

,100/KD/700/Trans. [P.T.O



(%) o WE SfRam ¥ TR T ad 87 SEeE
(T) oo aE T (WWW) F1 27

(2) What is computer and explain in detail about the scope
and types of computers ? 8

(b) What is input device? Explain in detail about any rwo
commonly used input devices. 7

(%) TR 1 & TN FEHR F FE & a1 TER R
fowr @ "Wl

A.@v%gmﬂ—wwiﬂwﬁﬁﬂduﬁ%
Syl % IR W faER ¥ "y

What is Operating system? Explain in detail about various

types of operating systems with example. 15

ST Fomem @ £7 fafost wor & ofmfen fawa =
sTEw gied faEn ¥ guemu

What is the benefit of using formula in excel sheet? Explain
any five mathematical and statistical functions in Excel. 15

TR e § wEen % I @ ' oo ¥ TRw H
= ot b dw wifeey wmE # SRR

What is Computer Network? Explain LAN, MAN and WAN
in sufficient detail. 15

wEGE Yead # ¥ M, W A W (LAN, MAN,
WAN) ! fawR ¥ 9FeEy)

12014/1,100/KD/700 2

6.

What is the purpose of transmission media in computer
networks? Explain in detail about unguided media used in
computer networks. 15

FUgR Yeaw § giEiEE dfed & w Rwed P TR
Yood ¥ wyoE et Wfem ® s A fawr @
EEEee

What do you mean by Internet? Explain in detail about the
role and working of search engines in Internet. 15

T Y SUE W e €2 TR ¥ W€ T W
iR de FTE qoTER ® AR H TR W wHaEy

(a) What do you mean by editing commands in MS-Word?
Explain any three editing commands in detail. 7

(b) Discuss in detail about various types of multimedia
technology used in computer applications. 8

(F) MS-Word ¥ wfefn suig § oW w1 GEER B
fr=l ae el sue & fFer ¥ gossy

(&) Fop TElmyE | wgE fafre yer @ aeddifea
FEAe @ 9N F fgwn 9 == st

Write short notes on the following :

(a) Android Operating System. 5
{b) Broadband Networks. 5
(c) Software Required for Networking. 5

12014/1,100/KD/700 3 [P.T.O.
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BCE/D-17 12015

LIFE INSURANCE -1

Paper - BC(Voc)-105
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all including Q. No. 1 which is
compulsory.

Ae : WA wem | g, W fF e € wo ot WA @
W Ff
1. Compulsory Question ( 3fard wyT)

Answer the following in short :

= & wgy § sw v .

(a)

(b)

(©)

(d)

(e)

Explain Insurance, and discuss its functions.

T F e W AR e Tl w favewe wY
What are the benefits of Life Insurance ?

Sfaa S oAy ¥ 2

What are the elements involved in calculating premium ?
Whrs #1 T A wita seF w7 € 2

Describe the methods of treaiing sub-standard risk.
IT-AFF WEw & FEUT F W H g
What is meant by "Lapse Revival" ? (4x5=20)
‘g fames” ¥ = oaed § 0

12015/1,200/KD/1101/Trans. , [PT.O.



State and explain the provisions regarding Nomination made
under Insurance Act. 15

i stfufem & 729 wamEs (FfRTe) § 9stua gaym
F) g ik T = w

What is Insurable interest ? Why is it essential in Life

insurance contract ? 15
Fa-ara e w0 T 2 Sew A ey ¥ 1w w1 oevE
77

"Living too long is as much a risk as dying too early.”
Explain the statement and suggest the plans to lead anxiety
free life. 15

" Eefsel B Sa B Sifem s ® e ooy e e
TH FUF F A SIS 9 FEa-gE Siaw S F saEl
F JUF FHIeQ

Discuss the nature, functions and evolution of Insurance
in India. 15

I ¥ 9 % fHem, v or v w ==t w1

Explain the types of Assignment and distinction between
Nomination and Assignment. 15

FEHS F FEN P RSN FE AR FAAE (AETE)
#N T ® WY IR TR F

12015/1,200/KD/1101 2

"These days children's deffered endowment policies are
gaining around.” Explain in detail. 15

Y i T o cufe (RWE) T offe wae =
w1 = 2" wfieEr SmE

Explain the legal aspects relating to payment of insursd
amount in case of suicide. 15

TEA F GHI)

What are the various factors governing sum assured 7
Explain. 15

= oty w fawife w@ o fafvs =re 70 € 2 e
Exd

12015/1,200/KD/1101 3
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BCE/D-17 12017

MARKETING COMMUNICATION-I
Paper : ASPSM-BC-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

e . o e wR wf R W Sem | st

1. Compulsory Question ( atfrard Uy )

Answer the following in brief :

(a) Explain the difference between Advertising and

Publicity. 4

(b) What is Written communication ? 4
(¢) Explain the Noise distortion in Communication. 4
(d) Role of feedback in marketing communication process.
4

(e) Explain the term “Unique Selling Proposition (USP) in
the context of Advertising campaign. 4

= % 999 ® I Ofsm .
(%) fagm 5 of=fedt | smR W= |
(@) fafes g9 = 27
() ¥9R § ¥R enes %1 3 F:
(W) P TR W wEm ¥ Wit w1 o g 8
(%) foam wEEe # ged # ere fawa fg) (Usp)
F1 5 TR w1
12017/1,100/KD/880 [P.T.O.



What do you mean by Communication ? Explain the
importance of communication in Marketing. 15

gan @ TN o 22 fovm § ©ER % F ued §
FoiH H

What is Marketing Communication Process ? Explain its
various elements. 15

froom TER YEA F®0 2 e fafem e w1 e
F

Discuss the process of Communication and explain its role
in Marketing. 15

TR # wEw w ¥ ek faom d e F afee 2

Explain the modern tools of Marketing Communication. 15

frqoR §ER ® SMfTE WAl # avH W

Discuss the various social aspects of Marketing
Communication. 15

faqoR OR @ fafh=s oo weqe w1 SiEw e
F

“Advertising is a wasteful luxury in India.” Explain. 15

Ve B faeT TE sagqel faentaa g1 avE W

12017/1,100/KD/880 2

Discuss the Ethical aspects of Marketing Communication.
15

faqom weR # M tewst @1 =ren w{

“Statutory control on advertising is ineffective without moral
control.” Discuss. 15
“rar W M frE % fa duifre freEEon weEEE
e

12017/1,100/KD/880 3
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BCE/D-17 12018
FUNDAMENTALS OF ADVERTISING
Paper : BC (VOC) 106
Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt four questions

from the remaining eight questions.

Az . Tv TEw 1 Td ¥ 9 o W W 9 wW U %
ExcCUEiLd

1. Compulsory Question Am.ﬂmw.m,__% 99+ )
Answer the following short type questions :

(a) Define Advertising.

(b) What is Primary Demand ?

(c¢) Explain Comparative Advertising.

(d) Explain importance of Advertising Budget.

() What is the difference between Advertising and
Personal selling ? (5%4=20;

frefafen @Y SO FeAl & S ORI

(=) fommod &1 gRefua i)

(@) mufter @ w g ?

(71) gerreas TamrT i qHEET

(%) fowrd 9WE & e W GHEEy

(=) fagrm au oifem faea & 99 a0 FW E

12018/1100/KD/1264/Trans. - IRPTO



Explain the salient features and the importance of advertising
in modern marketing, especially when internet usage 1is
increasing rapidly ? 15
anyfer fawom § fogmm #1 g1 fawwmed qun 7o @
ToETse, fed: SEiE $ae T YA a9 | 9¢ @ ¥ 7

Explain the role of advertising in the national economy of
a country like India. 15

TR I 39 F UL Adeare § fawed w0 g @
HHARY]

Explain the various types of advertising. Discuss the merits
and demerits of different types of advertising. 15

forared = fafir= wwR @ guesy) faaa & fafv= werdl
% 0 R ¥ T= Hif

Explain the various advertising objectives. How are
they set ? 15
fafi= famom sEal R wwEney) Tl fee e wenfud
o s ¥ 7

What is DAGMAR approach ? Discuss the chatlenges of
DAGMAR approach. 15

FATHTETI  (DAGMAR) 3w w1 8 7
HAUATETI (DAGMAR) Ifesio] &t sifaal =1
== Fia

12018/1100/KD/1264 2

7.

Explain the meaning and process of setting advertising
budget. 15

T S F o FW B oY qo YR F 9Hesy)

Critically examine the various methods of establishing
the advertising budget. Which method is the best and
why ? 15
fagr awe w1 a9 FW W fafrs fafuE & wwees
e Ffw FH- fafy w=E o=t € aw = 2

Write notes on the following :
(2) Primary demand and Selective demand advertising.
(b) Comparative Advertising. 15

fqefafgg w feool fafat
(=1) wafaE | qan gEArasE " faErE
(%) goesw  fasmo

12018/1100/KD/1264 3



Roll No. .o, Total Pages : 3

OBCE/D-17 12019-A

BUSINESS COMMUNICATION SKILLS
Paper-BC-102

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt any four questions
from the remaining eight questions. All questions carry
equal marks.

M T T | AEE R WY ome W Y ¥ W W
T W Gft W F ofw gum

Compulsory Question ( 37a/ wew)

1.  Write short note :
(a) Brain Drain.
(b) Audience Needs.
(¢) Mock Interview,
(d) Meaning of Self development.

(e) Process of appearing in interview.
qfarg e fafan .

(%) gfa qemem|

(@) S/ F TEvIHAG|

(1) TES FETER

(M) W™ #1514

(¥) TemFR 31w ghEa
12019-A/6,100/KD/854 [P.T.O.



Communication is the life blood of business. Comment.

TR =EFE ¥ fou Seeitre @ €, sren s

3. What do you mean by Corporate Communication ? Explain
the main channels of corporate communication.
frm ¥=ar @ F=n afom 22 T T T W =
F

4.  What do you mean by Communication barriers. Explain
different types of communication barriers.
TR & st ® F; Ty € fafvm weR @ gER
I F R

5.  What is SWOT Analysis ? What are the basic elements of
SWOT Analysis ? How it is useful in business.
e faverT = 27 W favenn $ euRE aw ®H
¥ ¢ =R A 9w FR Iwn

6. What is meant by body language ? Discuss the types and
importance to body language.
TRRE 9o F1 F e R WRE W # TR
I | YW eI

7. What is meant by effective listening ? What are its main
principles ?
el sEn w22 e g fagh owmno§2

12019-A/6,100/KD/854 2

8.

What is resume ? Explain the guidelines for writing a resume.
Prepare a specimen of resume.

fgqm frg 729 €2 fogw SR =0 w9 faam fde =
TR W W = T T TR R
What is cultural variations with reference to international

Communication ? How will you overcum intercultural barriers
to communication in global business.

FEE =R F Wl ¥ grgphw fiem © ow
A 27 sRiY™ wUR o wRefae faer
RECICICIE Bl Tl ol 1 P

12019-A/6,100/KD/854 3
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OBCE/D-17 12020
MICRO ECONOMICS
Paper - BC-103
Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 comprising of 5 short questions carrying
4 marks each is compulsory. Attempt four questions from
remaining 8 questions carrying 15 marks each.

e : wwA " | e uie g wee € st € v 8 weet
T ¥ fFel um i # S G wee 9' 1 % o
q H 4 3F ¢ 90 99 B P w15 % #

Compulsory Question
(arfrard uvr)

1. Answer the following short type questions :

frafafes g s o #1 3w T

(a) Exceptions to the law of demand. 4
A & fm & eEw)

(b) Excess capacity. 4
anfus e

(c) Derivation of Demand curve with the help of the law
of Equi-Marginal Utility. 4
Fu-Hraia ITAf & e @t gEEa | Wi g% #'
BIREEZGH

12020/16,800/KD/1272 [PTO.



(d) Returns to scale. 4
R 2 wiwa
(¢) Modern theory of cost. 4

a1 anyfe fagmn

What is Macro Economics ? Discuss the importance and
limitations of Macro Economics. (3+6+6)

Tofte sefome 1 ® ? THe) el E gew w1 9ue S

What is elasticity of Demand ? Discuss the various methods
of measuring price elasticity of demand. (3+12)

T # A o R 2 WM oW A oW Ao w8 e
fafemt ford)

What are Indifference Curves ? What are the properties of
Indifference curves analysis ? (3+12)

AT TH F € 7 GIRU IF fIvemw w1 favrarst =5
FUH F|

Explain the law of diminishing returns. Why does this law
mainly operate in agriculture ? (10+5)

T AT & M # =ren ¥ 9% fram favw w9 @
Ffy ® ar] T Bw 2

What is cost of production ? Explain various short-run cost
curves. What is the relationship between short-run average
cost and short-run marginal cost ? (2+8495)

IWRA A 1 2 ? T ereueTed el w5 g )
JYFENA e W wE W are ® @ gy st
EEd

12020/16,900/KD/1272 2

7.

What do you mean by firm's equilibrium ? What are the
conditions of firm's equilibrium ? Explain equilibrium of the
firm under Perfect Competition. (2+3+10)
T F WeH ¥ o N OFEen € 2 Rl vl B meem
1 # YA ¢ 2 P v § el vl @ g 9
Trfyd e € 2

What do you mean by Price discrimination ? Explain the
equilibrium of a monopolist under it. (3+12)

Fa fade 7= 2 2 F fadg 9 fRufe § wxem fruko
F TN F ST F

What is monopolistic competition ? How is price determined
under it ? (3+12)

TFuFR) sfaafm =0 ® 2 98wl #me w1 fuko
39 foFm s ? 2

12020/16,900/KD/1272 3
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OBCE/D-17 12021

PRINCIPLES OF MANAGEMENT
Paper : BC-104

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 comprising
short answer questions of 4 marks each is compulsory.
Attempt four questions from the remaining 8 questions,
carrying 15 marks each.

AT : wT U TH R WE § 1 g 4w T oy
IHT yvA €, afrad B YW 8 Wi ¥ @ wE Ww
WA HINC, T&F W 15 HF F OB

1. Compulsory Question ( 3TfE™d WyT)

Short answer questions.

(a) Discuss any four importances of Planning.

(b) State the features of Retrenchment strategy.

(c) Highlight the Virtual organisation.

(d) What do you mean by Delegation of Authority ?

() What do you mean by Centralisation ?

Y ITT T |

(%) faem % f5=f ux mesl = 9ue w

(@) B e F1 favmad sawEw
12021/6,300/KD/233 [P.T.O.



(M) FHeTE FeR W FEW T
(%) FAUFR FTw F oMuE F AR £?
(T) FF § o9 N 999 87

What is Management ? Explain the functions of management.

T ¥ T AN 27 T FTE & g9 FH

Make the Comparative study of Management Approach of
Taylor and Fayol.

IR T BAA F YO ICHW F JEARHS AR
Hifs|

What do you mean by Objectives ? Explain their importance.
What guidelines will you suggest for setting objectives ?

R G ATF T AWE 2?7 TE HES w1 IUR Fi
FH F Fuiw ¥ o9 fF9 9|l w oafus Sr
e

“Management minus Decision-making is nothing.” Explain
this statement.

“off yerg B ¥ ol w7 eem #X R S @ v w5
T A" T WY W =R S

Explain Functional Organisation structure.

FITF TTST BE H U HIFT

12021/6,300/KD/233 2

What is Democratic Leadership style ? Evaluate it.

 Age Yol W R0 el qediee it

What do you mean by Controlling ? Explain the process of
controlling.

froro @ oTTET woaned ®7 frosm wiEe w1 sdarRu

What is Globalisation ? Explain its various strategies and
features.

Fvatw = 87 TEe fafum e 3 favmaed e
FuR wifem

12021/6,300/KD/233 3



(M 2 % [F F I HI0C :

L &
+
.
o

(a) Explain the working of Magnetic Disc with R/W
operatings.

(b) Explain Output devices and discuss the working of
LASER Printer. 15

frafafas w 92 fafan ;

(F)RW W gU THfer fomr &1 w-wome =
qHART|

(@) PTG ITFON H THFREY TN TR AR F:
FHE-3eft W == wifw

Write notes on the following :
(a) RTS vs. Time Sharing.
(b) Single user vs. Multi-user.

(c¢) Simulation. 15
frafafas w e fafan

(F) RTS & 219 ¥rafm

(@) THd §W qg3q4TT &l

(M) fogeeE (Simulation)!

12030/900/KD/201 4

| 226)1 1 (o TR

Time : Three Hours]

Total Pages : 4

12030

OBCE/D-17

COMPUTER APPLICATIONS

(Computer Fundamental and Logical Org-I)
Paper : BC-105

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory.

qe : wqA U Y ® SW AW TR e 1 afEd R

1.

Compulsory Question
(tfrard wew)
(a) Write four capabilities of computers.
(b) Write full form of the following :
ASCII, EBCDIC, ALU, ROM.
(c¢) Differentiate between HLL and LLL.
(d) Differentiate between Multitasking and Multiprocessing.
(e) Differentiate between LAN and WAN. (4x5=20)
(F) FGR ! AN gHast w1 Aty
(@) @ 99 ¥aRT :
ASCIL, EBCDIC, ALU, ROM.
() HLL d1 LLL ¥ @R Fawy :
(9) AREfET qa AeMRfET § F@ Fany
(¥) LAN a1 WAN ® R Fasul

12030/900/KD/201/Trans. [P.T.O.



2.

3.

Explain functional components of a Digital Computer.

fefee Foz & weeh STl w5 woEEy

(a) Differentiate between OoBv:oﬂ and Interpreter.
(b) Discuss Linker and Loader. 5

(%) Compiler T Interpreter ¥ 3R Famwy|
(@) Linker T Loader Y =i #ifsry

Define Operating system, and explain how it acts as Resource
Manager. 15

%Hﬁnﬂgﬁﬂmmﬁﬂﬂﬁﬂﬁﬂ
Fom TR # 7w 3 v w5 P

Discuss the following DOS commands with example :
MKDIR

PATH

RENAME

DEL

FORMAT

DIR Using Wild Card

COPY Using Wild Card. 15

frfafen e (DOS) =arEl # semwwr wfew o=
FIfST

MKDIR

PATH

RENAME

DEL

12030/900/KD/201 2

12030/900/KD/201 3

FORMAT
DIR ¥15e2 #1€ & 3T ZW)
COPY T15ee #1€ # IT4M NI

Define Networking and its types and discuss Topologies.
15
Feafen a0 TR YER B uRwT ST qen S

(Topology) W =af HiIfsu)

(a) Discuss 8421 and Cyclic code. 4
(b) Solve :
(X), = 2AB9
(X), = (2345)
(10.3)1 = (),
= (s 6
(¢) Use 2's complement :

-9
-4 +10
(%) 8421 TN WEfFT® HIT (Cyclic code) =i

FfQ)

(@) & FIT
(X), = 2AB9
(X), = (2345),
(10.3),5 > (),

ad QT

[P.T.O.
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OBCE/D-17 12031

COMPUTER APPLICATIONS

(Business Data Processing and PC Software-I)
Paper : BC(Voc)-106

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question 1 is compulsory
and carries 20 marks. All other questions carry 15 marks
each.

AT ;. A iy B W Afw v e 1 e @
FA 20 HF H T TH TIF YA 15 FF B B

Compulsory Question ( arfard uya)

1. (a) What is the difference between fixed-length and
variable-length records?

(b) What is field? Discuss.

(c) How is data converted into information?

(d) What is physical record?

(e) How is EDP different from manual data processing?

(%) fer-onai gur sifer-o=ri @l & 99 = @
2

(@) &7 7 22 == Hifwy
(M) T B GEA H HY wgeA W@ 87

12031/750/KD/690/Trans. [P.T.O.



(%) HMfF fFE =1 82

(%) £A. EDp) dHEw T@ WRfET ¥ fFY WER
fa= &2

Explain production environment and discuss information and
product flow in production environment.

ST A H FHERY T IEEA AAE =
T IAR TAE KT oTE FAC

What is information? What is the difference between
operational, tactical and strategic information? Explain using
suitable examples.

N 27 iR, Wi qu AR e oo
F AR 2?7 3@ SR H ITEM FE SEERT

Explain the following :
(a) Sequential file organization.
(b) Direct access organization.

(c) Indexed Sequential file organization.
frafafen = wwmE

(F) ATHHE FIEd FASH

(@) 78 g9 "aeE

() R TThF B G|

Discuss :
(a) Data Capturing.
(b) Data Editing.

12031/750/KD/690 2

T wifag
(F) T FE
(@) T ufefem

What are different types of files? Explain the operations that
can be performed on files.

faf= 7R # wEd ¥ ¥ wEdl ® fRu 9 A
TEeH F GHERT

How can Validation and Verification be helpful in reducing
the errors? Also differentiate between Data Validation and
Data Verification.

et w O FE F Iefieww qw gfewo fR WER
WEF @ FH €2 T FhEm aw T e @
T R §ft T FfEg

What are the benefits of using computers for carrying out
different business functions?

fafa= sreafas &M@ & F1@ F A 7R 2 I
F T AN R

Discuss the economics of business data processing and
explain various data processing systems.

ZEagE TR WRfEn & swelwer w9 ®ifew den
faf= R * T WRfgT foew B wEEmEn

12031/750/KD/690 3
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OBCE/D-17 12033

PRINCIPLES AND PRACTICE OF INSURANCE

(Life Insurance-I)
Opt. PPI-BC(VOC)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt four other questions more from the
remaining eight questions.

AT wH U WA B SW AW v wem 1 P 2
Y IS WA H ¥ ww IRy F:fwm

Compulsory Question (31F@ar wy)

1. Answer the following questions in brief :
(a) Principle of Utmost Good Faith in Life Insurance.
(b) Endowment Assurance.
{c) Surrender value.
(dy Life insurance Contract is Conditional Contract.
(¢) Assignment of Life Insurance Policy. (3,4,3,3,3)
FrafafEd 9o & IR S99 § 9fSg .
(%) S & § e wxfavaw w1 fagi
(@) TEEE=R  fHvE)
() | Y
() SEm Gm F FEY TR vAEfRd sEy 2

() sham < ofedt w1 sfeemrs
12033/200/KD/237 [P.T.O.



What is Life Insurance Contract 7 What are the main
principles of Life Insurance Contract ? 4,12)
e dm oEy ;T2 WA W eHEy B SR-$R
¥ q&m fogi@ &2

How you will classify the various life insurance policies ?
Also explain the different types of Life Insurance Policies.
(7,9

#q9 SEm dh wr fafhs Oemet i fRw weR e

F? a9 w5t oty aemet = fawRgdw wi
Eaul

“A person can get his life insured. Can he also get someone
other's life insured ?” Explain this statement in the light of
the term Insurable interest in Life Insurance. 16

“tF wfE SR Sfed w1 W wE e B O 9%
fedt R B S = 4 wrE wwa 82" e dm
qdm g # owm ¥ W) WO %W H e
FHifaQ)

What is Insurance Premium ? What is the procedure and
method of calculating the Insurance Premium under Life
Insurance ?

oy diftm T 27 Sem @ § S diftem w= A
F ufEa aa fafy = &0

Define Sub-standard Risk. Explain the methods for the
treatment of Sub-standard Risk in Life Insurance.  (4,12)

IY-HFE WiEd F g w5 Siem i § S9-uee
Sfen & froen w1 ol = fawrgs R w1

12033/200/KD/237 2

7.

What is the Risk of Insurer in Life Insurance 7 What are the
factors that are to be considered for Risk in Life Insurance ?

4,12)
Fraq @ § doed ) SfEs w87 Sed S W
wifgm w1 ywfas F@ 99 59 9@ ® 9w ¥ @

-

ST/

What is Valuation in Life Insurance ? Why valuation is
conducted ? Also explain the procedure of calculating the
Net-liability of the Insurer. 4,12)
Stem i f geEiEe W ¥ godiER W@ wEr S
2 duwd ® ws TfEE w9 oW w9
fomr | Fam

Write short notes on the following :

(a) Incontestability Clause.
(b) Bonus Points. (8.8)

1 m @y e faw
(%) fafdafem ammn
(®) 99 )

12033/200/KD/237 3
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OBCE/D-17 12034

GENERAL INSURANCE-I
Paper-PPI-BC (Voc)-106

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

A ;. FA U W # S AR g g 1 efEd #
Compulsory Question (37Fard wv=)

1. Write the answer in short :

(a) What is Double Insurance ?

(b) What is surrender value of policy ?

(c) Explain average insurance clause.

(d) Describe the Principle of causa proxima.

{e) What is comprehensive policy of insurance ?
(5%4=20)

=1 = d&w 4 s ST

(%) 2T T oFm E?

(@) Fmey = gdn ger W R

(M) ma W oA W o i

(w) Frremm wrw # fagm w1 = S

() ™ = = dE o R

12034/200/KD/238 [P.T.O.



i

ﬁzmﬁao v\os mﬁmsmwmwAmﬂmmca@a%mmﬁwommom
handling risk. 15
Siiter @ sy Tegn ¥ WiEe % wund sy fafut

W GO

Ul

3. Define reinsurance. What are the advantages of reinsurance
to the insurer and insured one ? 15
el w s wfew Smede qu
TR FOF WY ER

4. “Principle of indemmty is the fundamental principie of
insurance”, Comment. 15

“yfaafd =1 fogme @m = g fagw B e Sifsg

5. What dc you mean by General Insurance ? What type orf
insurances are incladed in it ? 15
w fE Y ey w wwwe ¥ v R yeR ® A
wfefem B #7

6. Discuss the rights and duties of an insurance agent. 15
T TRV F AMEN @ FUeg 99U

7. Describe the functions of Generai {nsurance Corporation of
India. 15
Girsic Bl IR E sl e i s cecte S T

8.  Write short note on the following :

(a) Insurable Interest.
(b) Principle of subrogation, (8+7=15)

12034/200/k /238 2

Frefafig ey feoyoft f
(%) I 7w

(73 wiArarsy W e

Jescribe in <dztail the specific nolicies issued by Export Credit
Guarantee Cormoration (ECGC) in India. 15
grd H e e qRd B gw wih fafoe Aifew =
q

120347200/KD/238 3
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OBCE/D-17 12035

MARKETING COMMUNICATION -1
Paper : ASPSM-BC(Voc)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select any four questions from the remaining eight
questions.

A< : mﬁnﬂﬂ&%,aﬂ&?ﬂﬁuﬂgﬂﬁrﬂay
WY e T ¥ ¥ R ww v ® sw v

1. Compulsory Question ( 31fF@ETd wyv)

Explain the following :

= =+t =me w1 e

(i) Functions of Communication.
HaR & )

(i) Components of Communication Process.
IR 3w & s

(iii) Principles of Effective Communication.
e HweR ® fagial

(iv) Informal Communication and its significance.
ST WOR T 36 e

(v) Economic aspects of Marketing Communication.

faqom deR % s wEq)

12035/150/KD/1282 [PT.O.



What do you understand by Communication ? What is the
nature and scope of communication ?

TR ¥ e 1 AfuwE ¥7 §uR # vl w89 @
U

"Marketing Communication is emerging to be more essential
in present market context." Justify this statement.

“amyfre wfew ¥ faum ger ofys wem @ W @
2 @ w g T

What is Effective Communication ? Define the objectives
and significance of effective communication.

gt WEAR W F afaw ® 2 wWEt §eR @ 32 W@
et Hi AT HiTeq)

Write a detailed note on emerging trends in Marketing
Communication.

faurm ¥uR H I § wahdl ® o e o

What are the moral forces that affect the Marketing
communication in modern business ?

MY aEg F & | FH-9 3w vl faeon 9=
! g W W R ?

12035/150/KD/1282 2

7. Explain the role of Social factors in Marketing
communication.
fagom Har & e wewl #1 gfgew #1 fagwm s

8. Explain the different methods to measure the effectiveness
of Marketing communication.
faqum F9R F gwEEEa A A fafie fafiat
H FUA F

9. Define Communication Process in detail. Explain the
importance of Feedback in communication process.
TR R F e w SER 3iE ¥ Ayt w vew
F FUH F

12035/150/KD/1282 3
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OBCE/D-17 12036

ADVERTISING-I
Paper-BC-106
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions except Question No. 1 carry equal marks.

AT : FA U T F IW W) T T 1 St §1 v
& | % e o g ® oF wme

Compulsory Question ( 31F@ErE wyT)

1. Answer the following is short:
(i) Explain essentials of an effective advertising.
(i) What do you mean by cooperative advertising?
(iii) Explain any three benefits of advertising to consumers.
(iv) What is DAGMAR?

(v) Explain objective and Task method for determining
advertising Budget. (5x4=20)

(F) T aTEFr fagmm =1 sifverdarst &1 iR
(@) Teol fa9mT ¥ a9 w0 §Ema &

(M) fogmm 9 IyuEel F TR e fEe AN o
F1 FUE FL

12036/150/KD/1098 [PT.O.



(9) MR T B
(%) faamm woe fufor & 3@ve @ =4 ol #
T w

Define advertising. Explain the functions performed by
advertising. 15

famme" =t wftvmn g faemes g fre 9R 9@ w19 5
R FH)

Explain the role of advertising in the development of National
Economy. 15

TF | F AEERn F AEE ¥ e ¥ wew ok
qfFF1 F T Fifu

Explain different types of advertising. 15

fafi= 7R & fagmal =1 srem #:1

Is money spent on advertising a wasteful expenditure?
Critically examine this statement. 15

‘71 faarm @ fE T vA = = B £ T e
FT SIS S FL

Discuss various social aspects of advertising. 15

fammm & fafo= omifes qeqst =1 ofye =men =i

12036/150/KD/1098 2

7. What do you mean by advertising objectives? Explain the
various factors determining advertising objectives. 15
fomTe Sewel @ st wn ofaar &2 fammm TRvw P
F J9fEE FE A TeH w1 ogve wX

8.  What is advertising Budget? Explain various steps in
preparing advertising budget. 15
for o =0 &2 faw wwe fmin ¥ i ol @
=T i

9.  Write notes on the following; 15
(a) Recent trends in advertising.

(b) Strengths of advertising as a promotional tool.
(7Y2+7v2=15)
e W feefor e
(%) fomrmm A sdum ygfaar)
(@) 997 ¥7 & w9 ¥ e 51 vl
12036/150/KD/1098 3



. (8)

wh R B EREE W, Frefied | T aE g

(%) civara # I8 g gft B @ X 10 973% % 50,000
gt ¥ At e, frefafaa w9 &
@) o g B 2/5% W & avER YoiET Bl SN
() TTE AT @ERe S & 1/5 % g %, 5% T

S A

(i) T 60,000, 6% f&dE FIH |

(@) 50,0003 5% 5o o A T AT F R, 5
foe AN e o R T

(@ =i S T30,000 4, # T 1,50,000 F FE =

(g) = @ wsiEh o 1,00,000% 4 @ X 75,000 F R
T |

(8) iz # T 1,75,000 & T 1,50,000 T Rar @11

9.  Write notes on the following :
(i)  Conversion of Shares into Stock.
() The pooling of Interests Method
@) Difference between nm@:& Redemption Reserve and

Debenture Redemption Reserve.
(iv)  Under subscription and over subscription.
fFrefefag @ fewfrl fafae
() et #m owy F aRE
() e ® o Sl
(iii) w%%ﬁmﬁmgﬁﬁm%ﬁﬂﬁw%@%
(iv) o9 e qur sfg-eE |
12037

Roll No. ..
Printed Pages : 8

Time allowed : 3 hours]

12037

BCM /D-17

CORPORATE ACCOUNTING-I

Paper-BC-301

[Maximum marks : 80

Note : Attempt five questions in all. Question no. 1 is

H., (a)

(e)

12037

compulsory carrying 20 marks. Remaining questions
carry 15 marks each.

7 G 997 TG 1 20 o1 aT HeT wEA 1 dfard &1 47
TF g9 15 o @ 21

(Compulsory Question)
(stfvrard wgA)

Distinguish between equity share and preference
share. C)
oA ofer @ e ofw % A fa9E Fh

Write short note on capitalisation of profit. 4)
w1 3 o dfer el fare )

What are objectives of Amalgamation ? 4)

AR B 9e9d T & 7

What is Ex-interest and Cum-interest purchase of
debenture ? @)

srw-TEd qu @ wRd FOE HE R e 7
What are zero coupon bond ? 4)

9 T e F; 2 7

PT.O.



2.

(2)

What is meant by buy-back of shares ? Mention the conditions
of buy-back and the guidelines issued by Securities and
Exchange Board of India in this respect.

Sigtt % aE-EiE § A argd 37 aTE-EIE R S P A
ity o Rafmg frr A g 3d ERd A A T T e
frgett 1 SwiE HRTT

Bharat Tyres 1td. invited applications for 1.00.000 equity shares
of Rs. 10 each at a premium of Rs.+4 per share. The amount
was payable as follows
On Application ¥ 6 (Including Premium 32)
On Allotment 3 6 (Including Premium< 2)
Balance on first and final call.
Application for 1,50,000 shares were received, Allotment was
made to all the applicants on pro-rata basis.
Subodh, to whom 200 shares were alloted failed to pay allotment
and call money. Vikram to whom 400 shares were alloted failed
to pay the call money. Their shares were forfeited and afterwards
re-issued @ ¥ & per share fully paid up.
Pass the necessary journal entries.
awd Ted fates ¥ 105, s & Ui A9 5. 43 dF W
1,00,000 &ar sttt & f emdes wwnm BRo ) afd o &9
g 9
s w T 6 (T 2 difrew w=aE)
yiEa T 6 (X 2 i FEiE
S gYH Fur HeH HT W
1,50,000 it & fm omded w gu) @ A F AT
AT W AT A T

12037

(3)

g, B 200 sfwr s fFu T A, e @ A e @
PR F A w2 o R R 400 sfy erefed feg o
& AT 9N PN F F S @) e ssl @ e B R
T A A el o el F ww & T8l Sy A w A g
Frife %7 femn m

aYTE TeAmE g #ify

What do you mean by Bonus shares ? In what circumstances

their issue is justified ? State briefly the advantages and

disadvantages.

a8 Al B e A oarad 2O Rer oRRafyd § ouer mrtg
EET 2 7 zae Al a e @ waw F gaeg)

On 1st April, 2014, a company made an issue of 1,000, 10%
Debentures of ¥ 100 each. The terms of issue provided for the
redemption of ¥ 10,000. Debentures annually, commencing
from 21st March, 2015, either by drawing at par or by purchase

in the market at the companys’ option.

On 31st March, 2015, the company purchased for
cancellation < 4,000 of its debentures at 96; ¥ 3,000 at 98 and
X 1,000 at 98%2. The expenses of purchase amounted to
< 35. Record the above transaction in the Company’s Ledger.
1 #ffe, 2014 91w 941 3 1003 939% 3 1,000, 10% -7
S T S B A st § s 310,000 B ot 2 e
% foe far gan B, S 31w, 2015 @ @1 & T W fepd
B @1 BT % 9ol W oae @ gie & EeT

12037 PT.O.




(4)

31 91, 2015 & & 3 g6 T 4,000 3 RO & 96
7% 3,000 % 98 7 @ ¥ 1,000 3 98Y2 WM& & foT
giR| gl & &g T35 % g0

S A3 H B B q-an § SR S

6. Prepareina m,cBEmnmom form the Balance Sheet of a company
as per schedule IIT of Companies Act, 2013, taking imaginary
figures.
eIt Hee A9 BY F ofufvE, 2013 & orggdl UL &
AR el B & Refy e A i w9 F G A

7.  X.Co.Ltd. agreed to acquire the assets excluding cash as at
31st March, 2015 of Y Co. Ltd. the Balance Sheet of Y Ltd.

as at that date was —

Particulars 3

L Equity and Liabilities :
Shareholder’s Funds :
Equity Capital (Shares of X 10 each) 3,00,000
General Reserve 55,000
Investment Allowance Reserve 25,000
Surplus 60,000
Non-Current Liabilities
8% Debentures 50,000
Current Liabilities :
Trade payables 10,000

5,00,000

12037

(5)
Particulars 4
II.  Assets:

Non-Current Assets

Land and Building 1,20,000

Plant and Machinery 2,00,000

Goodwill 60,000

Current Assets

Inventories 80,000

Trade Receivables 26,000

Bank 14,000
5,00,000

The consideration was as follows :
(@)  Acashpayment of X 4 per every shares of Y Ltd.

(b) The issue of one share of ¥ 10 each (Market
Value % 12.50) in the X Co. Ltd. for every share in Y Co.
Ltd.

(¢) Theissue of 9%. 1100 debentures of I 50 each by X
Co. Ltd. to discharge E,m debentures of Y Ltd. at a
premium of 10%.

(d) The expenses of liquidation of Y. Ltd amounting to

T 4.000 were to be met by themselves.

Give the journal entries in the books of both the companies and

important ledger accounts in the books of Y Ltd.

12037 PT.O.




(6)

X Fe . Y et B @ 31 A 2015 B TE W OB A,
TR & afEen B R owEde 2o By R Y [ ow Rl
ICEES BT

foreEeT k4
I THAT a1 &

SRREe e Ml eI

a9 (T 10 weE B ) 3.00,000

AT HEY 55,000

e W "=y 25,000

sty 60,000

8T oA 50,000

oY AEA

= 3 10,000
5,00,000
4

11.

BEEGRIECE] 1,20,000

Hha T el 2,00,000

SSiiT} 60,000

g Rt

e 80,000

Bl s 26,000

BE 14,000
5,00,000

12037

(7)

(F Y. % J9% g % fou I 4 H T G|

@ Y fa F 0% oy & X%, . 3 310 79% (aem
9@ 12.50) &1 ws A9 70 fear S

(M 10% % dfms w Y. 3 =0 2 o| 5 %
X . {3 I50 7% % 1100, 9% ®om= 7 By 70y

(M) YR # i 5 T4000% 2 59 3 e P
T |

M FEE # O q T

qEAY el @ A |

o F Y [ F s A

On the reconstruction of a company, the following terms were

agreed upon :

(a)  Theshareholders toreceive in lieu of their present holdinig,
Via. 50.000 shares of T 10 each following:

(i) fully paid ordinary shares equal to 2/5" of their
holding.

() 5% preference shares fully paid, to the extent of
1/5™ of the above new ordinary shares.

i)y T 60,000, 6% second debentures.

(b)  Anissue of T50,000. 5% first debentrues was made
and alloted, payment for the same having been received
in cash.

(c)  The goodwill, which stood at < 30,000 was written down
to ¥ 1,50,000.

(d)  The plant and machinery, which stood at ¥ 1,00,000 was
written down to < 75.000.

(e)  Premises written down from ¥ 1,75,000 ¥ ch.oco..

Pass journal entries in the books of the company for the above

reconstruction.

12037 PT.O.
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BCM /D-17
HUMAN RESOURCE MANAGEMENT
Paper-BC-303

Time allowed : 3 hours ) [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

Te ;7 g7 597 F 79T §. 1 &7 A S 81
1. Explainthe following :
AT BT -
(a) Limitations of HRM.
A HEE 99 % €
(b) Contents of Job description.
o fEw @
(c) Benefits of Induction programme
AT HIHFH & W |
(d) Problems of transfer
WA & FHe |
(e) JobRotation Training. 5x4=20
P Qe e | 5x4=20

2. Whatis Human Resource Management ? Explain its importance
and scope. 4+6+5=15

MG GEIEE Te 2 7 9% Ve 4 A H U H |
4+6+5=15

12039 | [Turm over




(2)

Define Human Resource Planning. Explain its objectives and pre-
requisites of effective Human Resource Planning. ~ 4+6+5=15
TMa dEEE FEeE B ol S e R @ ey
Frillor 1 gd e ol /omasaarstt # au| HE1 4+6+5=15
What is succession planning ? Explain its process and limitations.

4+6+5=15
ST PR Fr @ 7 sad bk g dmel & ave &)
4+6+5=15

Explain the concept of Job Analysis. What are the different

methods of Job analysis. 4+11=15

1 SR Fi SAIRON P ARG P FE fAgawer @ faiie
Rt /= ¥ 7 4+11=15
Differentiate between Recruitment and selection. Also discuss

the steps involved in the process of selection in an organisation.

5+10=15
Wil 7 g § oY SRS | 0§ § A s e el
o e W | 5+10=15

Define Promotion as a source of recruitment. Explain the various

basis of promotion. 4+11=15

7 3 A F w7 § W # uieie FRe ) Tl B e
AT F GO B | 4+11=15

12039

8.

(3)

What is Training ? Discuss the general methods of Training for

workers.

ofdEr gy ¥ 7 e @ Rwe @ gaeg GRE @ oaE st

What do you mean by performance appraisal ? Explain its
objectives and give suggestions to improve the performance

appraisal. 4+6+5=15

FroTe Hedie @ SIGE I AREE 3 7 g9 Sedl 9 gEH gEv

3 gFEl & gy | 4+6+5=15

12039
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BCM /D-17 .

PRINCIPLES OF MARKETING
Paper-BC-304

3. What do you understand by market segmentation ? Which

criteria are used for segmenting consumer market ?

QT TR A 1 wEe 87 UM g # i

Time allowed : 3 hours] [Maximum marks : 80 FY 3 fou e enard & WA fRm o ® 7
Note : Attempt five questions in all. Question no. 1is 4. Whatis new product ? Discuss various stages of new product

compulsory. All questions carry equal marks.

development.
. = % F 2 T 2T [ s - S
qe . B wmﬁm:wﬁﬁq; 71 g7 d&ar 1 afvard & @l e

got B HF T & A

1. Explainthe following: 5. Whatare the different pricing objectives ? Explain the pricing

Eﬂ%ﬂoﬂ_mﬁ. ﬂc?mﬂ“

procedure.
(a) Characteristics of New Concept of Marketing. e e B fafe e -2 7 9w Ryafror uBEaT & T
T3 Rovm R @ Gewa adqEe i |

(b)  Explain Consumer and Industrial Products.
(¢) Classification of Packaging.

N . 7. “Money spent on advertising is an investment or waste”.
wm;m R BT | o

(d) Marketing Information System.

6.  Who are middlemen ? Explain different types of middiemen.
weger 29§ 7 gepdl & fabw gErl A @ b

Examine this statement.

fuoR TET O ) i |

IRIEN

o

T 9y’ | 39 FUF & fagE

hat ia arlcet] Totino ?
(e)  Whatis Demarketing and Meta Marketing 8.  Define the Marketing Research. Explain the marketing research

T e T B foeE @ g v

process.
2. Define Marketing and explain its role in Economic PO SATESE T A T AEa TR % e
development. HTFT |
_ ofrsrr Afsm od et b B F e NI . N o
Farore 1 oy o o o T T € AT 9,  Whatisonline marketing ? Explain its advantages and limitations.
FIAT |

i Sy 3 ot P et
A s A R 2 7 TgE vl 03 dHIEl & SPEE R

112040 PTO.

112040
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BCM /D-17

FINANCIAL INSTITUTIONSAND
MARKETS

Paper—BC-306,
Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question no. 1 is

compulsory.
e : R o gew & gav A g qear 1 sifard &

1. (a) Statethe mnmgmm of financial services.
(#) g daet # Fdvad qagd |
(b) Differentiate between capital market and money market.
(@) ¢ 9o R g5 99R § SR SaEd |
(c) Whatare the functions of capital market ?
(M) o A & 7
(d) Whatis E-banking ?

(@) SRPmanmI?
(e)  Explain the problems of mutual funds in India.
(5%4=20)
(3) 9@ 7 wrafs WY (REae w3) @ quenel o awen
| (5x4=20)

12042 PT.O.




(2)

What do you understand by ‘financial system’? Discuss various

components of a developed financial system. (15)

ﬂ%n@%@%ﬁﬁﬂﬂwwN@%m%%w
Fafrr Eedl 9X = BT (15)

Discuss briefly various types of instruments that are dealt in

money market. (15)

mﬂﬁnw@@mﬁnw%ﬂ&ﬂﬁ?mm&ﬂ_ (15)

Write brief notes on the following :

(a) Industrial Credit and Investment Corporation of India

(ICICY) , (8)
(b)  Small Industires Development Bank of India (SIDBI).
: (7
Frefoied ® Gt A R
(#) e @ e w0 oA Fw e (ICICD )
(@ «d g san e <% (SIDBI) (7
What do you mean by SEBI 2 Discuss its formation and
powers. (15)
ﬁ%aﬁ%ﬂﬂﬂﬂ%amwcw%ﬁﬁ%wﬁa
e SR el OT = w (15)
What are the tools of monetary policy available with Reserve
Bankoflndia? (15)
ﬁ%ﬁuﬁ&ﬁ&ﬁa%w%|%w%n%&
g7 (15)

12042

(3)

Examine the structure of commercial banking system in India.
State recent trends and changes and spell out their immediate
impact. (15)
ﬁﬁw%w@:%%ﬁmﬂ%ﬂm%_%@%
A o T o dee g 9 e F# (15)

What was the need of setting up Industrial Development
Bank of India ? How has it been successful in achieving its
objectives ? (15)
ﬁ%%wﬂﬁﬁﬁ@m&%%ﬁﬂﬁm%wﬁ%
%w&%ﬂaﬁwmw@mﬁﬂf (15)

“Investing in securities through mutual funds is a better choice
than direct investment.” Examine the statement. (15)
:ﬁﬁiwaﬁwﬁ%&m%&ﬁmﬁgﬁﬂi
mﬁwﬁAwyﬂw_:ﬁﬂ%ﬂEﬂ_ (15)

12042
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Printed Pages : 2

BCM/D-17
COMPENSATION MANAGEMENT
Paper—BC-311

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt four questions from remaining eight
questions.

qe ;BT G 99T F I F9T qeqr 1 g & a# 8 gedt ¥ 8 #F
g7 997 1

1.  Write short notes on the following :

i W g e kg

(a) TaxPlanning
F .
(b) Typesof Incentives
T B GER
(¢) Wage Board
gl %
(d) Profit Sharing
A FEHIRTT
(e) Differential Wage System. 4x5=20
fordieTeTs worgll e | 4x5=20
What do you mean by Compensation ? Explain its components.
7-+8=15
gl @ o w0 gEK § ? 5 AT gow @ aredn w1
. 7+8=15

12047 [Tum over

(2)

3.  Critically examine the major economic theories of wages. 15

Tl B e E sEERenel @ andleeE @i &t 15

4.  Discuss the various factors affecting compensation policies. 15

giagld At B mfed F0 g AR wRat @ avl w1 15

3. Explain the various types of pay structure. 15

I G B AR T @ S FX ) 15

6. Elaborate the various issues involved in Compensation

Management. v 15
wiyRt were & wiefie R gE @ Rege s ¥ 15

7. Howthe ooB@o:mmm_oz, of Directors, Chief Executives and Senior

Managers is fixed ? 15
Freme, mﬁ%ﬁ&mﬁ%nﬂmﬁ%mﬂm&ﬁﬂ%w@
fbar e B ? : 15

8. gmﬂ do you mean by workmen compensation ? Explain the

various provisions of Workmen’s Compensation Act. 6+9=15

FHa #Ryd & o ;= wEy ¥ ? e afll offe 3
= smagET @ vl %) 6+9=15

9. Write shortnoteon:

(a) Minimum Wages

(b) Benefits

(¢) Sales Compensation 5x3=15
= w e e g

(%) = o

(s) s

(1) Rl st 5x3=15

12047
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COMPUTERAPPLICATIONS
PROGRAMMINGINC

Paper-BC (VOC)-305

Time allowed : 3 hours]

[Maximum marks : 45

Note : Antempt five questions in all. Q. No. 1 is compulsory.

Attempt any four questions from rest of the questions.

All questions carry equal marks.

T ;T G 997 FT) F9T . 1 SR 8199 5o F & % 3o
FITT | G ged & 3% G &1

1. (@ Howmanykeywordin‘C’language and define. 9

‘C’ ar ¥ frem a2 8 ? qRufyg i

(i) Why the constant/variable is used in C Language ?
‘C’ W 7 Rl /=X # S /i R S 8
() Whatis the Range of Integer data type and float data type?

QUi ST JHR T Rile SihsT WH & T &1 8 7

(iv) What are different bit wise operator symbol ?
faft foears w=s d@aa & 8 ?

(v) Explain the meaning of a variable declared as array
WH &0 § Offd & o 5 d9 3 ar Hivm

(vi) Write a syntax of Scanf function in ‘C’ language.

‘C’ 9 § Scanf TR & TH gl faae fafan)

12054 t1rans.

[Tum over



(2)
Write a program to print all data type in ‘C’ language and its
printf statement. 9
‘C am gt ST e B i B @ fig o s fafae
TN T9% printf FF B THHET | 9

What are different relational operator ? Explain with example.
| 9

faftT e YT AT R 7 SaTeR dfd aran gl 9
Write a program to display week days if a character symbol is

entered using switch statement. 9

araiied B B gl & fu o o gy 9k faw @ @
IWET HW §Y OF FR G ) uRke B o ¥ 9

What is use of loops write source code to print 1 to 10 using for
while and do while loop. 9
T H F1 I ¥ ? for while 1 do while gy @1 3ud % 8
1 & 10 B &% & fg 914 2 fifaw) 9
What is use of union data type ? Also compare between union
data type and structured data type. _ 9
IR SHiEST YR H T SERT ¥ ? g SRS TR aen wRi
HATHST YR & g g o v 9

Write a program to copy data to a file in C Language from
keyboard. 9
ol v & C w1 & 0 wEw § TR A w5 @ R o fum
fafe | . G

12054

(3)

What are different type of function in C language. 9
C 9w ¥ w=e & RAfa= yor w1 & ? 9

What do you mean by pointer of a variable write a program to
pass aargument in any function using pointer. 9

UF T % WE § UH F A ¥ 7GR H IuT B U
frelt oM ¥ OF o U A @ R o g Rikew) 9

12054 |-Trans.
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BCM /D-17

mGZU\wZ_wZH»h OF DATA BASE SYSTEM-I

Paper—BC-306

Time allowed : 3 hours] [Maximum marks : 45

Note :

e :

(b)

©

(d)

(©

®

Attempt five questions in all. Question No. 1 is

compulsory. All questions carry equal marks.

Rt qr qs & o G e wear 1 s &1 weft et
# ofF @ &
Compulsory Question (3w %)

Define Data Base and Data Base system.

STCT 99 T S[A 99 JU! Sl

Whatis DBA ?

DBA &1 8 ?

What causes inconsistencies of a Data base ?

TF e 9 R § @ wR § 7

What is Data Redundancy ?

AR YR ARE M & 7

What do you mean by data abstraction ?

orafy s Sofd A URWIE FT

What is the purpose of Normalization ?

TETRTO @ 3298 a4 & 7

12055 [Tumover




(2)

What do you mean by data and information ? What are the

characteristics of Information in data base ? 9

ST T A | A F G € 7 sy § g B o
g7 9

What is File Based approach in DBMS ? Differentiate between

Traditional file base approach and data base %ﬁmowov 9
Umemﬁﬂﬁsﬁﬁm§Wvﬂaﬂmaﬁ%§ﬁm
Td 3T 99 9EF ¥ oY adneit | 9
(@) Explain Architecture of DBMS. 4%
(b) Define DDL and DML. | 4y,
(%) DBMS & st @ ameti a4
(@) DDL and DML # uRsifg #2| 4%

What are data models ? Differentiate between Hierarchical and
Network Model. 9

ST oest 4§ ? Avflew od dead ol @ gew @ 9
(a) Who are DBA in DBMS ? What is the role and function of

DBA? Vo
(b) Explain Integrity Rules. 4,
(%) DBMS & DBA # & ? DBA % gfta w@ & st |
‘ 4
(@) s@sm & faw qaEd | 4Y,
7.  Explain Architecture of DBMS in detail. - 9
DBMS & #%= &t R @ aren 51 g

12055

(3)

(@) Explain various types of constraints on relationship type of

the E-R Model. 4%,

(b) Explain working of E-R Model with help of an example of
Railway station taking your own assumptions. 4Y,

(®) - dtew B R gBr & Tt w el @ amen B
4Y

(@) orrft Al @ omar T 3T YOI B TR AY gY E-a
Hfed S A RN @ AU P 4%
Explain various keys with examples. 9
ot R &t ot SwEeer Wl Saen 9

12055
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BCM/D-17

OFFICE PRACTICE AND COM MUNICATION

PART-A
Paper—-OMSP (BC- 305)

Time allowed : 3 hours] [Maximum marks : 60

Note : Attempt five questions in all. Question No. 1 is

7e :

1.

compulsory. All questions carry equal marks.
B G 59T @ T AR 1 g9 e o et &1 @ get
& dF T &
Explain the following in brief :
e # d@éiy § quf @it
(a) Decentralized Office Services
foliga Fafede Yo
(b) Centralized Filing.
PAGT TERIHT
(c) Duplicator
ERNIRCaC e
(d) Taking Print Out
qfa g a=
(¢) Time Recorder.
() Office Organization. 2x6
FHEATT WA | 2x6

12056 [Tumn over

(2)

2. Define office and explain its role in total organization. 12

3. Whatdo youmean by Indexin g ? Whatis significance of Indexing

in Filing System ? 12
%ﬁwﬁmﬂwN%%mﬁﬂwﬂﬂﬁﬁ
weq g 7 12
4.  Distinguish between hardware and software. 12
B TN WwAAT F g 12
5. Whatisaword processor ? Discuss utility of word processor in
amodern office. 12
TS HEET T EA B 7w engfie gahm § am g @
ST &1 A B 12
6. Whatisa Printer ? What is the use of Printer ? Explain types of
Printers used in modern offices. 12
%Aﬁvﬁwwﬁﬂﬁﬁ%%fﬁmﬂﬁ%m
T BT IR A R B 9ER SeEy 12
7. Explain operation and use of computer in office setup. 12
WIS 0 § Fge & 9REEA qo 56 aueE | 12

8.  Explain operation of accounting machine, calculator, addressing

machine and weighing and folding machine in an office. 12

FraieE § dgieT Ag, Fegaes, T AGT T q a9 HF q
qeq aril A9 1 oREwE awEEy 12

9. Discuss the role of accounting, secretarial, public relations,

advertising and official language departments in an office. ~ 12
T SYF FEied § dare, arda, as §9%, R qur aeen
fromt & it @ avie i) 12

12056
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BCM /D-17
TYPE WRITING ENGLISH (Theory)
. Paper—-OMPS-BC-306 Part-A
Time allowed : 2 hours] [Maximum marks :40
Note : Question No. 1 is compulsory. Attempt five questions

in all. All questions carry equal marks.

qe ;g . @& e &1 g uig g9 % Y i g get
% 3% AT &
1. (a) WhatisCarbon ? Explain its types.
FET T B ? IS WER fRa
(b) -~ Write short note on : (e fwwh)

(®  Squeezing and spreading

Rrepie &R e
(i) Correcting Fluid
TR dh T B RS
(¢)  Explain Duplicator.
gRiHel H A FHQ |

(d) Whatisdifference between error and omission ?
e o B A e R 7
(e)  Write salient features of electronic typewriters.
gt 7 3 fadwed |3
()  Explain the use of duplicating machine.
gRieT Ao & FENT S |

12057 PT.O.

n

(2)
Describe the use of carbon paper. How would you correct errors
in the carbon copies ?

FE TR B I@E H A ) FE el § eyl R
YBR[ ?

What is a stencil paper ? Briefly describe the process of
its cutting. What are the other materials required for stencil
cutting ?

R H 70 8 ? 39 FeN B uRR ) Al ared 5¢ ) R
T & RT 2-8 99 TEE P SAEwEsd gsd 3 ?

What do you mean by duplicating ? How will you get copies
from a duplicator ?

U @ amaehr # aad & 7 gWider & qRwl d w5
# Ry & av= F:70)

What process would you adopt for the correction of errors ?

Ayl € B 3 T o F-w FRaE B ?

Explain signature 2 Backing sheet
fr@l - s 2 8 o

Write down &m difference between Electric and Electronic
Typewriter.

ks T Faaeiae i ade F w1 e 8, RiEn

Write down a letter to M/s Brij Lal & Sons, Railway
Road, Delhi-6 for order of goods 5C yards silk sareeNo . 6 @
9,000/- per sari, 40 saris Cotton No. 5 @ 1500/- per sari.

¥ o o qug o, Yo e, Reeh @ ame-4fm - 50 3 e
ail . 6 @ 9000/- afx &Y, 40 @t gH 5. S @ 1500/- wfy
GISiE

Write the salient features of computer.
FEET B qed R aansd |

12057
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Time allowed : 3 hours]

BCM /D-17
FIRE INSURANCE
Paper—PPI-305
[Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is

qJie :

1.

compulsory.
T G 597 B | g . 1 g 81

(a) Insurable Interest.

o arg Rl
(b)  Specific Policy
faferee. < W=
(c) Subrogation
A T8
(d) ValuedPolicy
b RIUERECIC e
(¢) Reinstatement
g 5x4=20
State the procedure for making claim under a Fire Insurance
Policy.
e S o $ orla T B B Rl @7 15

What is Fire Insurance ? What is the method of determining
premium rate of Fire Insurance ?

ity S @ o @ ¥ 7 o S § e R 5@
& fafy =/ 2 ? 15

12058 PT.O.

(2)

Explain the different policies taken under Fire Insurance.

gt i & orla A M e R o) & el S
15

“Fire Insurance is a contract of Indemnity or a personal
contract”. Explain.

“gife S eyt sl qun R d@few B ) @ w15

Describe in detail the scope of Fire Insurance.

T dm & 8 B RERES quEd | 15
Explain the condition of Fire Insurance Policy.
i dm-o # oad EmEEel 15

Discuss the provision relating to renewal, assignment and
cancellation ofa Fire Insurance Policy. v

SR AT T B TR, SR T E F B Crt B e
BT | . 15

Explain the characteristics of Fire Insurance Contract.

g o & e o e H _ 15

12058
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BCM/D-17
INSURANCE, FINANCE AND
~ LEGISLATION-I

Paper—PPI-BC-306

Time allowed : 3 hours] _ [Maximum marks : 80

" Note : Attempt any five questions in all Q:mm:_.c:m. First
~ question is 2::3&%@ and it carries 20 marks i.e. 4
marks each part. Attempt any four questions out of the
remaining questions carrying 15 marks each.
qfie ;. Fa g § @ T G 997 FQ | g7 F9T SAard & aur
g 20 7 %7 & o7l 9% T & 4 7% 1 99 g T 8 g
qIY 797 Frg St g% 15 ofH B &

1. m.x@_&d the following terms in reference to Insurance and
Legislation in up to 1 page length each :
(@) Laws ofprobability and insurance
(b) Mode ofloading for expenses
(c)  Nature of surrender value .
(d) Premium calculation for Temporary insurance
(¢)  Automatic premium loan .
Frefafea W& &) e (it 1 g aw gds) S aon &
% W § T -
(%) widpar (d9mea) o €9 & &
(@) =@ % e aRa & &
(1) i g
- (1) orrd dm & faw sitEw ST
(7) e sffm o
12059 (~Trans. PTO.




2.

(2)

““The risk can be measured by the mortality rate in life insurance”.
Explain. Also explain different types of mortality tables.

i S § SRR @ AN A &K QR ot R @R

i | e TR ) A AT e | AR

What do youmean by the term—Net Single Premium ? Elaborate
the steps involved in calculation of premium for life insurance
policies. .

@ﬁmﬁ&gmﬁwﬁaﬁﬁ_mﬂmfﬁm&ﬂ&%.

¥ diftgn @ o § sfERE aer @ REr 8 e

Explain 9.@ following in short :

, (@) Compund interest functions

(b) Mode of claim payment

(c) Marginadjusting,and

(d)  Gross premium general considerations
FretfeiRae @1 e G989 § HINT : |

GO

(@) @ g #; T

(m) i SHEeE, T

(@) v e wERe RER

What do you mean by the terms ‘Reserves and surplus in

insurance’ ? Explain the origin and importance of reserve. Also
explain methods of calculating reserve.

o & G aw ARIY o | oMY @4 AR B 0 €9d B 99

qe HedE @) R $T | gEg @ o @ R #@ o s

HRTT |

12059

(3)

. Describe the following-retrospective and vwo_mvoﬁ?o reserve

computation; Statutory regulation of reserve; non-forfeiture
value.

fFrfoRaa & gui HifsTe- ﬁ%mﬁﬁ%mﬁ%ﬁ%ﬂuﬂ

Y FraE; ST g |

Describe various kinds of life insurance policies. Explain features
of each Endowment policy.

%ﬂ&daﬂgwmﬁm%ﬁ%ﬁﬂfﬁa%
e A Qe @ A Ny

Describe the concept and method of calculating Surrender Value
of an insurance policy. What are the various forms of payment
of Surrender Value ? .

ﬁ&aﬁwﬂjwﬂ&ﬁgﬁﬂaﬂm@%mﬁﬁ
L1 - .

Attempt the following in mro_n

(@) Listout various sources of surplus

(b)  Explain difference between surplus and profit

(©) Methodsofdistribution of surplus.

(d) Settlement options.
e & day 7 SR ¢

L (a) ofdw 3 Rbw Ak B gEeE SR

(@) gy @ A B S ofat H e HH |
(m s R #@ R
(@) FoeR fased

2059 |--Trans.
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BCM /D-17
ADVERTISING-II (i)
Paper—-ASPSM-BC-305

Time allowed : 3 hours] [Maximum marks : 80
Note :  Attempt five questions in all. Question No. 1 is

T :

1.

compulsory.
T G 797 B Fv ) 99T §. 1 ofvard &)

()  Whatis Point of Purchase Advertising ?
P4 fag s w/w 8 ?
(i) Explain Media Cost.
Hif arm @ o e
(iii) s& is the role of Press Conference in Advertising ?
e # T9 wivhE @ R Aed Q7
(tv)  Explain the steps involved in Media Planning.
digar Faem & w9l & v i)
(v)  Whatare the disadvantages of TV Advertising ?
lifeo fasm @ el F-ie @ & ? 5x4=20
What is Direct Mail Advertising ? Discuss its advantages and
disadvantages.

JoOE ST RO /1B ? 6% AW qw sl @ aren i)
15

What do youmean by Electronic Media of Advertising ? MMEmE
its various forms. ,

s & Qagie didar @ o o g ¥ ? me Rt =gt
H UH HifoT | 15

12060 , PT.O.

(2)

What is Print Media ? Discuss the various kinds of Print Media.
fife difear 7 & ? B Mfzw & Rfiw ol @ e s

15
. Explamn:
@  Macro-level Media Scheduling
(i) Media Strategy
o FHINT
) < Az aEaEs
i) s 15

What do you mean by Media Planning ? What is its importance
to advertise ? Also explain the problem of Media Planning.

Hifgar FaeH @ ong w1 99 & ¢ faseeat @ fow g@e w®
7o & ? Wz Faee @ guEel & o g iR 15

What is Media Scheduling ? Discuss the various strategies of
Media Scheduling.

Hfifeqr gugasa @ & ? diftw gwaesa o fofyw it @
T B | 15

What is Outdoor Advertising ? Discuss its merits and demerits.
el fEmE F@ 8 ? 3@ T g ANl & e B 15

Write shortnote on :

@  MediaFrequency (i) Mela

(i) Media Coverage

Hiera feaeft fafag -

@  sifsar emgfa (@) AW

() s & 5+5+5

12060




ROINO. oo , : 12061

Printed Pages : 2

BCM /D-17

PERSONAL SELLING AND
SALESMANSHIP-I

Paper—ASPSM- BC (Voc)-306

Time allowed : 3 hours] , [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is

e :

compulsory. All questions carry equal marks.

% Grg qet & g7 A1 79T . 1 i & 1 @t 99t
# o AT 21

Write short notes on the mozoémbml ,
frer @ dftra e fafae - . 5x4=20
(a) Objections axd their classification.
il AT arafwEt H s
(b) Salesmanship. ,
fershareal | |
(c)  Approaching in selling process.
fospa e & ol harel @ qb |
(d)  Typesofselling situation.
fepa fReafy & W&
(e) - Difference between advertising and salesmanship.
femee R fasgaen A ST

What do you mean by personal selling ? Explain its importance.

%wﬂw%ﬁﬂﬁnﬂwwﬁ&ﬁmﬂ%%_
5,10

12061 PT.O.

(2)

“A good salesman can sell the products of even weak

organisation.” Discuss.

‘T B faha S TS $ IdE W 99 gedl 27 gdt

Exdl 15
Explain consumer markets and their implications.

SUHT SR o I ffearel &t amenr R 5,10
Explain in detail the process of effective selling.

yel R ik & Rega el @i : 15
Write a detailed note on the theories of buying motives.
FA-IT  frEr W g e filgw ) 15
Describe the various types of salesmen. Also discuss their
responsibilities. .

AR B R FHR @ g9 B qu I IaREREl B @
crsiefeadl 10,5

What is meant by Demonstration ? Explain the aids and

techniques for Good Demonstration.

yeee & oI B ? OB wes 3 RU erw g @ aoi
HfT | ) 5,10

Discuss modern concept of salesmanship. Also distinguish
between personal selling and Advertisement.

fospaben @1 oy frEmETT @ WsmEw| Jofew R dr
fasme 7 e ot i 5.10

12061




wF TeE 9 WEAEl A, B W C % WeAH H T
3 | wer ufEw oW oOmeE o e TR T
afEar A 3%; S B 3%: i C §%.

yiEm A @ s 23 99 owla @R w9 T,
yferam B I o T ufe TR dw 9Ea C
@ wofere | %9 AT OB U0 T | WEA A F

h

fu oo SETEL e Ufd TRE WCESET 2000

w oy H R A S = B LA

qisEar A utwmar B
AT 1000 1300 360

P 5000 8600 6500

Tegd T JO50

Frafas AT Yl

0 9 100 =TT giEar O

TriesE gel dted =i

i

AT I HAHA

9. What is transport operating costing ? Discuss the

accounting procedure to determine the cost of transport

services. 15
s A YR W € 7 SEde genEl &

e fERe W AR w1 Ses wIe |

1-12062 5 24,600

RO NO. v Total Pages : 08

BCQ/D-17 12062
COST ACCOUNING
BC-501

Time : Three Hours] [Maximum Marks : 8§0
Note : Allempt £ive questions 1nall, Q. No. 1is compulsory.

WA U G R UAT IS 4 WA wHeA 1 sifar

g |

1. Compulsory Question

(1) Lxplain e meacing und nature of Cost Accounting.

1

(hy  Mueniion the wuin books for recording of material.

¢y Denine cost shieet Fapluin ity objectives,

(dy  Explain cost plus contraet.

() Explain the meaning and objectives of transport
operating costing. S5x4=20

wf=aE w9 e

(%) W A T A9 9% WG F sed Hied |

(a) W R Peizn oW dwE T aane |

(7, @E U w TRETT AN | THe Al & 9vi

eI

(%) A qul WIS FOFUA RIS

~

{2-26/7y 1.-12062 P.T.0.



Define cost accounting. Explain the fundamental principles
and functions of cost accounting. 15

AN A@FA 1 AR AT | e EEa F W
fagral qur =@ 1 9ol wifay

What is meant by material control ? Describe its objectives

and basic principles. 1

N

N

A fEEm § o e wngs € 7 Tod 39Evd Adl
HWmmﬁ _,m.._n&_“m_: Ed @aj_“ mm)~.~,//._m, |

(a) Explain the need for and factors for selecting
incentive schemes.
Wedzd Al % WA # fAU sTavasa ad
SNFH N G9H FIAT |

(b) Find out the remuneration of a worker on the basis
of (a) Day Rate (b) Piece work rate (c) Halsey Plan
(d) Rowan Plan from the following information :
(1)  Work started I April 2017 at 8:00 AM
(i)  Work finished 5 April 2017 at 12:00 noon
(i) Work allotted Production of 540 units
(iv)  Work done and

approved 500 units

L-12062 2

(v)  Time and units
allowed 10 units per hour
(vi) Wages rate Rs. 3 per hour
(vii) Bonus 40 per cent of time saved
(viii) Worker worked for 9 hours in a day. 5+10
frefafad geaE @ () @ = (@) 96w ©
(W) TEE ARE (%) e AR wOER W
FHafE & TRgtEs I@ FiT
() wWgE fEm 1972017, 8:00 5 g
Gi) & D fEE 5 #2017, 12:00 5 IR
(i) =™ fem @ 540 3FTE T IAEA

(iv) d fmar qen

sEifea ffam 500 ghTEal
(v) THA 941 THEd
1 el 10 318 Wfd s
(vi) TG 3%, gfa =
(vii) @ TR T 999 H 40 Fiaw

(viii) Fe T A H 9w wH FE

5. From the following informations, work out the production
hour rate of recovery of overhead in departments A, B
and C : 15
Particulars Total Production Service
Dept. Dept.
A B C D E
Rent 1000 200 400 150 150 100
(2-26/8) 1.-12062 3 P.T.O.



Electricity 200 S0 8 30 20 20 T faaqm € @wn T F FH HE OTER Eol IO
Fire Insurance 400 80 160 60 60 40 a7 3

= T 3
Plant Depreciaticn 4000 1000 1500 1000 300 200 = 0% 40%  20% - 10%
Transport 400 v 30 50 100 150 . ]
g 10%  20%  50%  20% —
Estimated
working hours _ 1000 2500 1800 — @ — 6. What is cost sheet ? Explain its advantages and give pro

Expenses of service department D and E are apportioned forma of cost sheet with statement of profit with imaginary

as under : figures. 15
A B C D E A T N E 7 T e i SARSN IO T I
D 30% 40% 20% —  10% el & Wa o g Wew @ H S
E10%  20%  50% 20%  — < |
frfefem o G fgum @, 9 qu F H S F 7 X Construction Company undertook a contract of Rs.
fier #1 Seaed we =TI 50,00,000 for the construction of new building in a college.
(LR HA IR fawmr war fawm The following expenditures were incurred during the
I = k) o K year : 15
feruran 1000 200 400 150 150 100 Rs.
fersret 200 50 80 30 20 20 Material directly purchased 4.50,000
mm.w.ﬂ s 400 80 160 60 60 40 Material issued from store 5,00,000
RS ERS I 4000 1000 1500 1000 300 200 Plant Installed 3.50,000
Tfiaga 400 50 50 30 100 150
. Wages Paid 10,00,000
- 1000 2500 1800 — — Other Expenses 1,65.000
Accrued wages and other. expenses 4,25.,000

'1.-12062 4 (2-26/9) 1-12062 P.T.O.

[



Of the plant and material charged to contract account,
plant costing Rs. 20.000 and material costing Rs. 1,50.000
were destroyed. Material costing Rs. 20,000 "were sold
for Rs. 25.000. Plant costing Rs. 5,000 was transferred to
store at the last day of vear and a part at the plant whose
cost was Rs. 2,000 became useless due to damage. Work
costing Rs. 24,00.000 was certified 80 per cent of which
was received in cash. Work done but not certified was
Rs. 10,000. Depreciate plant @ 10 percent per annum.
Prepare contract account for the year and show the item
related to contract in the Balance Sheet.

v f T Us wes HoOAdl

9= & fog

for

50,00,000 & & S ot & | 96§ frefafes = w5

T,

gl geEs €9 % B 4.50.000
5,00,000

3,50,000

Togh A . 10,00,000
I = 1,65.000
TR AR q I oA 4,25,000

Ty qen Haw wE H omd T §ME § 9§99 &
AFE 20,000 F. der WM @r@ 1,50,000 ® T F
TR 1 20,000 F F G H 25,000 T H =T
5000 % M F Hg3 ad & twm =R oW

L-12062 6

C R e AL LIS £2 A Y B 2 T

2000 ¥® e, WA EFE W CEWO G F T |
24.00,000 % =FE w1 wE oTmid g oen fawEr S0
v Wwe 9 g O A oM owEOF 10,000 w

2 ~

Y WML T FIGC W ST W TANE 9 F

| "FY FT

A product passes through thrce process A. B and C. The
normal wastage of each process is as follows

Process A 3%, Process B 5%. Process C 8%.

Wastage of process A was sold at 23 paise per unit; that
of Process B at 50 paise pei unit and that of Process C
at Re. 1 per unit. 10000 units were issued to Process A
in the beginning of Oct. 2010, at a cost of Re. 1 per Unit.

The other expenses were as follow

Process A Process B Process C
Materials 1060 1500 500
Labour 5000 8000 63500
Direct Expenses 1050 1188 2009

Actual Output was
Process A 9500 Units; Process B 9,160 Units; Process C
8100 Units.

Prepare the process accounts assuming that there was no

opening or closing stocks. Alsc give the abnormal wastage

S
W

of abnormal efficiency.

2-26/10) L-12062 7 P1.0.
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| BCQD-17 12063
ENTREPRENEURSHIP DEVELOPMENT
| BC-502
“ Time : Three Hours] [Maximum Marks : 80
|

Note : Q. No. 1 is compulsory. Attempt four questions from
the remaining eight questions.

I N N

s T vm @ wel H oW @

; 1T 79l %

i. Explain the following in brief :

(i) Induced Entreprencur

(ii) Explain the term ‘maturity stage’ in life-cycle of a

; new business.
(ii) Explain socio-cultural environment.
) (iv) Explain Qualitative Method of demand forecasting.
(v) Explain the shorl term sources of finance (only
w‘ Bank sources) 24

W

(i) FEEERE

w
!

ity wHETEE @

‘,;JT.\)
i E) s -
S PARIGD




CICCIEEE

HUA dh WYR) W@

N .-

) 2 P bl
DO LOITHIEIL ull

i5

~

Gvrgmi_p main focuses on a new business in different

mﬁmmo ofia ECJQO of a new @c%:mmw 15

At AT
1\»»/ LA A4 al

«/ﬁza do you mean by internal

of business ? How theyv affect the success 07 2

o

What is Demand Forecasting 7 Explain the uncertainities

involved in it. Discuss the various methods used for

demand -ow.romo:::.m. i5
T Qmm_ﬂn_whﬁ Fa g 7 mu,..w_,. m.,.,‘., m._.mL.n.ﬁ stafy=adaa fﬂ Cl :M
- s N s T ol . hid - ~ [xY

i | w TEEeE § wge er e Tl S e

determinants of working capital. i3
PPN N e .
g Geu fad WER R E T/ &IE g5 &

B i

What is the utility of break-even analysis 1n proiit

(7]
v
-

e methods used in this analysis. 15

~

) ~ )

=H we fanE el enen wiad |

wh-To=e favemol &1 0 " ¢ 7 ¥




8. Explain the following :

(a) Tax-Free Non-Government Securities 8 | 220) | DA TSNt Total Pages : 08
(b) Less-Tax Government Securities 7 BCQ/D-17 12064
frefefen =i FH=m - . INCOME TAX-I
(37) TR IR-TE . giasfaan , BC-503
(F) HgR TR whE |

Time : Three Hours] [Maximum Marks : 80

9. Explain the provisions regarding set-off and carry-forward
of losses in Income Tax Act. 196]. 15 Note : Q. No. 1 is compulsory and answer to cach question
TR AfafTEm, 1961 & SFER Tl &1 gfd v I should not be more than onc page. Candidate is required
M A T B FEEE H TR | to attempt any four questions out of remaining eight
questions.

yvq wed 1 afEd © oAur uS9E 99 ol I TH
I § s A w1 famfien s 9w ow= oms weHl

g fasi om uv ® 39 2 © |

1. (i) Distinguish between Gross Total Income and Total
Income. 4

THEA AF qUT FE IE H SR qORT |

(i) Write a short note on Agriculture Income. 4
Ffy oMy W Gy e fafen |
(iii) Explain Capital Assets in Income Tax Act, 4

S qEER fufram § dof gwfa ® wrew wifig |

L-12064 8 26,950 (3-10/7) L-12064 . P.T.O.



(iv) Explain Standard Rent in House Property. 4

TEA-gHd § OFE RO F1 FaRu

(v) Write any \jd incomes which are taxable under
income from other sources. 4
uier UH ey fafew S ‘et oAl § o § e
g €

How is residence of assessece determined for income
tax purposes ? Explain the incidence of residence on tax
liability. ) 15
FIF * I Feammet w1 Fam-m Y yeR fyita
fFa ST 2 2 frerg-Tom W s-Tfie W R gEenEy |

Explain any fifteen items which are not included in total
Income, . 15
3 T T T WS R GEERY W T o Y T Wl
S

Hari Om was appointed as a workmen in a factory on
18t January, 2006 in the pay scale of ¥ 5,200-200-10,400.
On 1% August, 2015 his services were terminated at the
time of retrenchment on account of closure of business

and he received a compensation of ¥ 40,000 from his

L-12064 _ 2

employer under the Industrial Disputes Act. He was
entitled to avail earned leave of 30 days each year. At the
time of termination of his service he was also paid
756,000 for 8 months’ earned leave not availed of by
him during the period of service. On 15 December, 2015
he got another appointment on a monthly salary of ¥ 8,400.
On 1%t February, 2016 in order to meet the expenses of
his daughter’s marriage. he received an advance of -4
months’ salary and also took a loan of X Gboo from his
employer for the purposc. |

Determine his taxable income under the head salary for
the A.Y, 2016-17 assuming that the salary is due on the
first of the next month. 15
eh om e et § 1 SEed, 2006 € T 5200-200-
10,400 3 H gffeE % w9 H 79 ga | 1 3T, 2015
F WO A= TN A HWO FeA F T qOn IHH! A
T S T | s e e 8 st a-faes
sfufrm = sl 2 40,000 w1 R afagfd # w9 A
= F L I8 v A 30 A ow afm sEEw W #
SR o1 | TA TAE BR % T 39 8 HE % S
SaEw % fou (S vEd 9w o § fEf fean e
256,000 ® g zH | 1 KGR, 2015 H I

(3-10/8) 1.-12064 3 P.T.O.



38,400 wia = 1 THG AHT WA X A | T wH]
w1 W & fg B0 W A 9w M 9 1 W, 2016
®1 4 UIE F A9 AW FE G F 15.000 F1 w0 AR
TE 9 BT T I T S ® wEel faty wm Ry ®
F-FURO 99 2016-17 F fAu sa 399 wivs =1
F-AFG 3G FT T HISTT

Mr. X is the owner of two houses which he uses for his
residential purposes. Compute his taxable income from
house property for the assessment year 2016-17 from the
following informations :

First house — Fair Rental Value ¥ 1,20,000.

Second House — Fair Rental Value ¥ 12,000
Municipal tax paid @5& of fair Rental Value.

Interest paid for the previous year, on the loan taken on
10.4.2014 for the purchase of the first house ¥ 2,20,000.
He borrowed ¥ 40,000 @15% on 1.4.2014 for the
construction of the second house which was completed in
December 2014. He could not pay the interest during
2014-15, hence paid interest this year for two years
(including interest on unpaid interest) ¥ 12,600.

Fire Ems,asom Premium paid ¥ 1,400 and ¥ 200 on. the first
and the second house respectively. The assessee specifies

the first house for exemption under Section 23(2). 15

; 1-12064 4

fer X & @ 7oF & 9 @ =9 war & | frafate
o § 3HHT Fw-FruRer ad 2016-17 % fau wewm-wmiy
Y F-IMF T HI MOAT HITHT

TR HEM — 3= & T1,20,000

fedta wem — sfa fFan 12,000

Sfea o 1 10% TROAH X qHA | 996 THFF F
4 & fau 1042014 & fod ™ w0 W W@ oA A
%2,20,000 I -GFE1 | IEF 142014 F W TEM
T AU T 40,000 FOET 15% =S W ferm
fewmar, 2014 § w99t AR B W | 9E 2014-15 § =
F PO TE1 F FH | 37d: 39 99 3EH I T4 F =
(@ = R A Wfed) F YT AT 12,600
A < fifgem gEm-vem 9wmE ¥ 1,400 on 5l
HHE T 200 | \

FEMA YW THH H g7 23(2) F T2 & g A w |

Explain the following :

(a2) Valuation of Stock-in-hand 7
(b) Cost of acquisition of Capital Assets. 8
Frafafas #1 g9gmEe -

() =i wha &1 qearEd

(@) TS vl & 9w A w aee |

(3-10/9) L-12064 ) 5 P.T.O.



7. Dr. Gupta is a medical practitioner of Ludhiana. From the

following, calculate his income from profession for

assessment year 2016-17 15
3

(1) QHowm receipts from dispensary 2,35,000

(i)  Gross receipts from consultation 1,65.000

(iii) Operation fees 2,50,000

(iv) Visiting fees 50,000

(v)  Gifts from patients 30,000

(vi) Medicines purchased 1,25,000

(vii) Closing Stock of medicines 35,000

(vii1) Salaries paid to employee 1,50,000

(ix) Surgical equipments purchased 48.000

(x) Dr. Gupta went to attend a medical seminar in
Germany to update the knowledge and spent
< 25,000 on it.

(xi) He owns a house whose municipal value is T 50,000.
Half portion of the house is used for the profession.
Expenses paid on the house : M. Taxes 10% of M.
V., Repairs T 10,000

(xi1) Medical books purchased . wouoo,.o

h-u.mcma 6

3 T i # fafems € 0 frefafes gt @
F-TRaRor o 2016-17 & foQ 391 991 © o7 = Mo

HIFT

z
() feo=t @ wiftwt 2.35,000
(i) R 3w 1,65,000
(i) SINEFAE G 2,50,000
(iv) 3 IH FT [Yew 50,000
W) FOS @ oz . 30,000
(vi) T T 1,25,000
(vii) =amenl w1 aif<m whimn 35,000
(viliy 9= F1 g 1,50,000
(ix) WSl o9 TR 48,000

(x) Sl T SRR § 9 oF W MU A ST
I W~ = T 25,000

(xi) ST UF 7EE ¢ fEe gl @8 250,000
T MEA W R FW AW R | WER W
=1 . JfAfaTa w= 10% Z< T ¥ 10,000

(xil) Tofean oot g @i 20,000

(-10/10)L-12064 7 P.T.O.
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BCQ/D-17 12065
COMPANY LAW-II
BC-504
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory
and carries 4 marks for each Part. Attempt four more
questions from remaining eight questions carrying 15
marks each.

FA U WA ® W AT | W gen 1 e
e v A 4 siF T 9N ems ue §
¥ W 9 SR FIU, yOF WA 15 S w R

Compulsory Question

( framd o)
1. (i) What is meant by transmission of shares ? 4
Aol & wEHT 1 oF ad ¥ ?
(i) What do you mean by paperless trading ? 4
Twe e 9 oy d wHEd g 2
(it1) Define the term ‘Director’ 4

‘HeaeE! v # uRew @fg |

(2-31/8) 1-12065 P.T.O.



2

N

ivy What 1s an ordinary resolution ? 4
R e g ot B 2
(vi  Who is contributory ? 4

Define Member. Distinguish between a meinber and a
sharcholder. How is membership terminated ? 15
o o e AfAY | TEE U SV W OAW

T | #9 gorE B ® 2

Define the term “Director’. Discuss the powers and duties
of directors. 15
s T R Af | HEeE % Ay

Dizcuss briefly the duties of a Company Secretary. 15
g aofgs # Fded 1 HiEw Su RIS |

What is Annual General Meeting ? State the legal

provisions regarding calling of such a meeting. 15

o AW F A E 2 UE w O & Hed o
Feonfrs sAeensl w1 aUF HifET |

Define Voting. What are the various methods of voting at
company’'s meetings. 15
qem w R At | wT w1 Eee F wEE #

L-12065 2

What is Dividend ? What are the statutory provisions
regarding declaration and payment of dividend 7 Also
state the provision of declaration of payment of dividend.

15

St S 7 e FOSOON de fTE sk He H

S

wmﬁﬂmﬂvﬁﬁm\%ﬁﬂﬁgﬁmﬁﬂﬁ
gt 7 ot FUF IS |

Summarise the provision of the Companies Act pertaining
to reconstruction and amalgamation of companies. 15
e F AT S TR ¥ g FE ST
Eiceiniica ity el

What is Members' voluntary winding up ? What are the
provisions applicable to members voluntary winding up ?

15
e g Ufere T PN g ¢ 7 HEE g Ufesd
T H# gEYE A g € 7

(2-31/9) L-12065 3 20,650



ABC FEFT # 9E, 2010 & YUH E® F aNE °id &

S

T H 338:,,_ T YFR ¥

| R it fte
RS A TR W (F) | (FEEED)
A 2 3 4
| dem e 40 15.00 -
Cimm w20 £6.50 —
ERICERES! — — 30
ey 54 50 17.10 —
B I E— — 20
K= s — 40

frifaa aerlt &1 sa 4 AR WiE & qed & 0D

e

freferfed mfyal gm0 wiew

iy FIEC famw
(iy Lo 9w

Giy WA e fafy

8. What is Economic (O
examples

Tqasl SRS W T R

r Quantitv 7 lllustrate it with
15

-

7 g9 IERIul H OHEERU

9. What do vou mean by Scrap ? How the scrap can be

;o/ac: ?

9 31 S&dl 2 7

L-12066

5,10

4 20,550

Roll No. ..covvinniiiinnania Total Pages : 04

BCQ/D-17 12066
MATERIALS MANAGEMENT
BC-505
Time : Three Hours! [Maximum Marks : 80

Note : Q. No. T is compulsory, It consists of five questions of

4 marks cach Aufcmpt four questions from the
remaining eight guesiions carrying 15 marks each.
Y e 1 AFEr § o T@ v & WiE W © ad
TIE O 4 WF AT 7 uW e yeR W § feed
AR G F v difwu W TeE W 15
FOE

{Compuisory Question)

- wfRand wgd)

1.  Write short notes on the following : 4x5
(i)  Materials Regquirement Planning (MRP)
(il)  Materials Inteliigence System (MIS).
(iii)  Functional Analvsis System Technique (FAST)
(ivy ABC Analvsis

(v) Inventorv Turnover Ratio.

G-1011HL-12066 P.T.0.



L-12066

frafafea m dfia femfmt fafew -
(i) T sTEvEEdl w1 A
(i) ot i gome

(iii) frocas fovemor womell q@ATE
(iv) TELEL gomal

(v) WH o&Ed oua |

What is Materials Management ? 5&.& is the need of

materials management in the present scenario ? 5,10
Tl YA € 7 SEEE gy H WEHs W w7 e

Q

ETIHAT € 7

What do you mean by Purchasing ? Explain the principles

of purchasing. 5,10
T F1 FOF FHINY |

FIU o ANIT R 7 FT

What is Value Analysis ? How is it different from Value
Engineering ? Explain any nro techniques of value analysis
with examples. 53,7
qoq faveraw 21 § 2 9% Yeq $StEiT 9 oo w9 § 2
=t a1 gow faverur qeAlwl w1 9uF 3EEON & Gy

HIfTT |

(8]

5. Write a detailed note on Spare Part Management. 18§
sfafad g & das © famga @@ fafew |
6. What is Quality Control ? What are different techniques
of quality control ? 5,10
TR AT F 7 2 e e #: fafes awAe
7. The information of the transactions in connection with
the materials during the first week of May. 2010 of ABC
company is as under
Days Receipts Issues
Units | Rates per Units (Rs.)| (Units)
1 2 3 4
15" Day 40 15.00 e
204 Day 20 16.50 —
31 Day — 30
4 Day 50 17.10 -
3% Day — — 20
6 Day — — 40
Calculate the cost of maternials issued and value of closing
stock under the following methods of issue of materials :
(1)  FIFO Method
(i) LIFO Method
(ii1y  Weighted Average Method. 5.5,5
(3-10/12)1 ~12066 3 P.T.O.
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BCQ/D-17 12067
INVESTMENT MANAGEMENT
BC-306

(Gen. and Hon’s.)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

FA Gt yEl B oI ARMT | T wewm 1 afvard
®
1. (a) State the features of an ideal investment
programme.

woere fEw wdwn @ et s
(b)  Differentiate between Systematic Risk  and
Unsystematic Risk
sqfiu AR srenafor dfem § war wawn
(¢)  What is Industry Life-Cycle ?
I SE-EE e § 2
(d)  Explain Capital Asset Pricing Model (CAPM).
It e ga-frefor Gied (CAPM)
(e) Explain the Aom*:;nm of financial derivatives. §x4=:20

fodrm =gafs & fodmad qarw |

.gv_it,

B-33I 12067 PT.O.
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What is Investment Management ? What are the factors
to be kept in mind while deciding an investment ? 15
e v w0 @ 2 ww fEw fofa o i R s
® =M N wET A 2

“Higher the rizk, higher will be the return.” In this context
various types of risks associated with an asset. 15
VIR W, T o 1 5 wed §, uw qwfy @
Y T2 fem & fafim yard w 9= «ifm |

rite brief notes on the following :
(@) Investmer! Philosophies in India 8
(b) Moving Average Analysis. 7
Freafafas w dhew T fafea .

(3) 9/ § fraw # yromd
(7)) 9mg 7fE favdwor |

What is meant by listing of securites ? Explain the listing
notms for companies to get their shares listed on stock
exchange. 15
%%@&mﬁ@ﬂq%ﬂﬁwwiﬁé
F VR TR Y qEAg WA ® R s s e

067 2

What is company analysis in the context of invesiment
planning ? What important factors should be considered
in this analysis ? 15
E@ﬁ&ﬁﬂﬂl%ﬁamﬁﬂﬁﬂﬂ%mﬁwwwﬂ
fovawor & fb weagel sRE W fer fea s <feu ?

What is difference between technical and fundamental
analysis of investment management ?
e gavm 3 geaet faveny sk B

ST ?

How will you determine the value of a bond with a
maturity period ? Give examples. i5
ST T WO s A T A 1 oqeg 8% o
FT 7 I A |

Discuss the main functions of a siock exchange. What
role does SEBI play in regularization of stock exchanges
in India ? 15
TF VR A % g wE W oas s o
Wi s F frfm @ § 99 (SEBD) R gfe
framt € 2

3-33/10 12067 3 2,800
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BUC/D-17 12072
BUSINESS POLICY AND STRATEGIC

=

i, Compudsory Question $%4==20

fay  Define strategy. What are the dificrent
which cirategy operates ?
(b} Swmec the important isst

{¢}  What are {inancial stra

Y What e b 2
(dy  What are the differen

i
o
“g

strategic management 7

5,33 short note on ‘Strategic Mansgement Angit,

=y dﬂmj & TRen
auu

(=320 112072 LAY



¢ &y

What are the major barriers o strategy implementation ?

Diccuss the means available to overcome such harriers. 158

i @ waTe o e o W ¥ 2 5 e
woEE T T oA

LY

recruitment and selection policies. Give their
15

shared

swmatien 7

e YA H ChO

6. Write short notes on the following : 7,8
@y Individw Fthics.

(M Integrity Based Vs. Complience hased approach t:

Ethics }y Organisation

business ethics.

y wigmne srER-faEn
(@) wOn aREE € Al WEEE

-3
-t

{ _0%35.3 Governance 7 Explain

1=+
o0

ciples of corpora

AETaHAl € 7 T

8. Faplain the role of Autonomy

sweetening the iabour relaiions

fouEm H OTTEEE S WSS S A




TEE WSS

wd
-
[

[

Plot a line from 3ing
Brescnham's algorithm method. 17
SRR 4 S - -\ P -
S8 T 006,0) | (8, 8) 7%
T fe i Y o
WA Y W 9 RS !
2070 4 10

TR
[ SN

¢

a4

Three Hours

BCO/D-17 12479

COMPUTER AIDED DESIGN

uaneg
]
e

Aaximum Mar

Atternpi [ve guestions in all. Q. No. 1 1s compulsory.

All questions carry equal marks,

¥ OUTE el & TR efem | 9w dem 1 aifer

(a)
(b)
(c:
) Ll

3

U S . 5 X
PERD TR o @ OWHM YO

Compulsery Question

{ fraE uga)

o~y

tlaborate CAD applications in Mechanical design.

feorm § CAD F oHEwmm @ favEm
Discuss the structure ot 1CG (Interactive Computer
Craphics) at hardware level.

TEERE W W OICG (FRAeE SR WiEE) ¥

o~ e .
ATEN HT U #wu |

Fxpiain the working of [

.
yStick

~

— — < [ o
AR Tl HRTAYTIEST T U

AL’ G,



coordinates of the point A(2, 2) after

oint A(X, Y) to point B(X+2., Y2
uofag B(X42, Y£2) EEAEH 5. Flsborate s Bitmap File Structure {8M

componesic and how data is written o this file 2 12
of shadow mask CRT. PAS

feiy wEd

3 .
. ] 6. Fxplain working of these pointing devices
“lay proc in Raster scan systom
8.6 types .
: {a) {
why Torem o fewe wEmr w1 winen () &
(%) FoRgEm faefaten wnEfEn feawsl =1 aof @iy qon o
.
o EJ TS I
3, Develop an algorithm to draw a line from origin O(0. ) M A

et g [TV AN

10 noint X(5, 3) using Digie! Differennal Analysis (DDA

e wWiEd ®

0o o

25 .%ﬁﬁu ENE

EN

Explain the following AITTOCAD commands : 8. Dy taking a 2-D figure av your examp:

(a) Polyline Seale point (X, ) 1o point (X4, Yo 6
\ Move by Rerate figuie about (0, 0) by an  angle

{¢y  Offse

T 12879 2 2-Fu 3 1.0,



9. Write notes on the following :
(a) Direct file
(b) Multi-key and Multi-List File System.
frefafem w fewforl fafew -
() T FEE
(9) He-H1 TN Heel-fore wEa faem |

L-12080 4

12
ROIINO. ccverrercninnncsnneen Totai Pages : 04
BCQ/D-17 12080
COMPUTER APPLICATION
B8C-306
Datastructure
Time : Three Hours] [Maximum Marks : 60
Note :  Attempt Five questions in all. Q. No. 1 is compulsory.
wl U FEH ® I AT | WA "ew 1 e
ol ‘
1. (2) Abtbreviate :
LCES, FIFO, DLL, ISAM.
LCFS, FIFO, DLL, ISAM.
(b; Differentiate Stack and Queue.
WE T T H AW T |
(c) Discuss Recursion as application of stack.
WF F aEET § wY ¥ fiweh W oavl wifew
(d) Define Tree, Binary-Tree, Full Binary Tree and
Height balanced tree.
Tree, Binary Tree, Full mwsmmw. Trez qeNl BES ERE)
Tree & uffefes siisw | 4x3=12
1,800 (3-44/1} £.-12080 P.T.O.
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(a) Define Linear Data Structure. Discuss Linear and
Non-linear Data Structure.
TR SR | w1 e e | eeRRR qen
- R-Sle HL=A &1 oo Hifem

(b) Define 1-D Array. Write its properties and discuss

address calculation of 1-D and 2-D Array. 12

1-D @ & wferw e | seR T fafee T
H-Umﬁwbﬁﬂ,ﬁﬂﬂgﬁ%%ﬂm_

(@ Define Stack and write Algorithm for PUSH an:
POP.
@ﬁﬂ%ﬁéﬁm@mgmmﬁqwo@%@m
TR fefe

(b) Write applications of stack and discuss post-fix

notation. 12

%ﬂ%ﬂ@mmﬁgﬁgﬂﬂi
ol e |

Detine Queue and its types. Write Algorithm for INS and
DEL in Simple Queue. : 12
F F IR G TR TR W e @i
s #1 4 INS @em DEL % TRen fafag

1-12080 2

Drefine SLL, DLL and CLL. Write Algorithm for INS at
Start, END and Positional in Single Linked List. 12
SLL. DLL 7en CLL =1 ftsmar 9fSw | fiyma foige fre
TN W OINS & ot werifen

T Start, END
fafam

Detine Tree, its traversal and explain algorithiu for Inorder

and Preorder using recursion, 12
& F1 IR, T dode 7 el @ W § e
T e % fow weifRen el wifg

Define file, its types and explain INS and DEL in Index
SEQUENTIAL file! : 12
BRA BT IRAS, T THER 9 ewa- oA wRd
9 INS @1 DEL % i3 wifog

Define B-Tree and explain INS when degree of

~
jav}
Nag

freedom is 4.
B-Tree &1 ufwrn g @en INS &7 e, 9ifg
A A W W 4

(b) Discuss Double Queue and Circular Queue. 12
FFA F TUT GOER FY H FUH HfAw |

(3-44/2) 1.-12080 3 P.T.0.
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BCQ/D-17 12081

OFFICE PRACTICE (Part A) THEORY
OMSP BC(Voc)-505

Time : Three Hours] _ [Maximum Marks : 60

Note : Q. No. 1 is compulsory. Attempt four questions from
the remaining eight questions. All questions carry equal
marks. :

T WeA 1 AtEd ® 1 9w ome el H 9§ wE W
e g | weh e & o wE e ©

1. Define in short : 12
(a) Papers
(b) Envelops
(¢) Pins
(d) Tour
() Tour Advance
(Hh T.A. Bills.
a9 o g ST
() =
(7) fawrs
() eTerdg
() 3
(3) I wewh
(%) dn foeg |

(3-37/9) 1.-12081 P.T.O.



State the types of papers and explain their different uses
in the offices. 12
S B ER F faew Afe T v fafiE gen @
FEferd § IUENT 1 e it |

What do you mean type writing ribbons ? Explain their

types and uses in a modern office. 12
TEU-TERT W ¥ o oo € 7 T fafee
R 3 enyfe Frierd H STER H A &I |

What is Stock Record ? Explain the procedure of stock
record keeping in office store. 12
T R T § 7w e # T FEe % 'R
¥ @ ® ufEa S e SiNg |

Explain various characteristics and importance of agenda

in the official working of a modern office. 12
w wREE & fafee Wl T wew w1 TE YR
Faiem F FEEE ® Ged § =ren i |

Explain the uses and importance of Telephone Directory
in the working of official moaiam_m. , 12
Frfer B wEeE § fera g ® SwET 9 HES
FI e HIfT |

L-12081 2

7. Explain the procedure of making Railway Time Table.
Also give one example at your choice. 12
Yo TET IRV SR S Rl I oA w1 ST
THO B AER W TH Iae o e |

8. Prepare a tour programme at your choice showing all the
distinations in a tour. 12
AT T @ U WY A w6 aARe faed et
g+t Tl w1 e T e |

9. State the procedure of hotel accommodation booking and
its advantages for the tourists 12
Tea gfaen 1 g1 FE & a4 w1 e dfee
T ® o T %A W ¢ 7 FaRg |

(3-37/10)L-12081 3 150
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Rl No. v, Tetal Pages : 83

BCO/MD-17 12082
PROPERTY AND LIABILITY INSURANCE

PPL-BC-505

samum Marks @ 80

Time . Three Hours]

It carries 20 marks., Attemipt any jouwr questions {rom

the remaining eights guestions. Fach question carries
15 oarks.

A ufe W & I ATET | ¥ WEm 1 & 20
He € aw AFEE ¢ v aw oy d 9 feel =
5 L T .

1. Wirite short notes on the tollowing : §x4=249
(13 Non-Insurable Risk
(11)  Budgetary Covers
(n) Catlle surance
(iv) Specific Value Contract
(v)  Theft Insurance.
et @ gieng feufmi fafe -

(3377} §,-12082 PT.O.
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Define Insurance. Fxplain its essential features. 15 7. Explain the following

o= uftarsr Sfs TUF IEYEE AT #] RS (1) Medical Benefit Insurance
Fifer | (i1} Boiler Machinery Insurance.
Describe the procedure of evaluation of risk in Property i F AT
Insurance. What are the challenging issues in risk ()  Fafwmn @y e
evaluation ? 15 (i) == I

auto insurance

i G e

What is Re-Insurance ? Explain various methods of Re-

[nsurarnce 15 T |
imTﬁmé sfag § 2 qram @ fafu= fafud =
!
Write short notes on the following : : 7,8
(1) Uomqgomes Insurance
(1) Dwe :Ew 30@03\ Ho%
frefafigs w Hferag :
iy  qEEl "
(i) TEm-TE gofs a1
Discuss the procedure of obtaining liability insurance.
Alsc describe the positicn of insurance agent in case of
liability insurance. 15
T A WD SR FOURRA W EEeRT | 3Ad A @
aHe d dfim wEe w feafs o o 9l Fifag
2082 2 {(3-37/8) 1.-12082

8. What is Auto

Insurance 7 Explain claim settlement in

Al = e T

ooy
]

8l
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BCQ/D-17 12082
GROUP INSURANCE AND RETIREMENT
BENEFIT SCHEME-]
BC-506

fire 1 hree Hours| [Maximum Marks : 80

Note © Altempi Five questions in all. Q. No. 1 is compulsory.

A T YA & IW A | W G 1 fter
5

1. Define the following :
{a) Three main objectives of emplovee benefit schemes
(b) Insurable Interest in casc of Group Insurance
{c) Difference between group and individual insurance
{d) Rules for disclosure of gratuity liability in Balance
Sheet

(e) Commutation of Pension. 5%4=20

(31) FHAR fTa@d domel w OTH U SR

(9) @z s oo d@m fee

() TgE 9 s @iw F R

() gea-v3 ® T=gE sl w1 feem Wedt fram
(§) THFERT W |

(2-59/4) 1,-12083 PO,



2

fn\

th

1-12083

What do the segments of group scheme market ? Examine

- &

the mfz: tial for business in each segment.

o~ N

€ ? TaE fred o

g the rztirement benefits

15

Discuss

[ eEENl WRW w &1 fEw

fag=m wIRTT

o)

Statc the advartages of pension &g

[

BN

FHHIGT TETT e & =

Whot resources are made use of far superannuation

&

% G

4 NOL-SOnt

b ]

Describe in detail the merits and

annual premium in a group inswunce. i5
TF TR A H aifs T eee % e @ &
What do vou anderstand by the termy “Temily Fe oo™ 7
State the bonefits offered by Fryuovees family vension
R N o
scheme. i5
—~ G s o >\.,. b/b e iy ~ -
‘e UYET YRR W ST T 9EEE E 7 WHER] WRAR

Ty WA R endl 1 avH &S |

o

Prepare an outline of a Group Gramiity S¢l

includes important features, terms and conditions.
confributions and benefit 14
T e TEAE B
IS, A F el

20Es 3
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BCQ/D-17 12084
ASPSM
BC-505
Management of Salesforce-I
Time : Three Hours] [Maximum Marks : 80
Note : Attempt five questions in all. Q. No. 1 is compulsory.

All questions carry equal marks.
FA UG T FIGC | YW G 1 e € msd
TH B w gEH §

1. Short answered questions : 5x4=20
(@) Committee organisation
(b) Bonus method of compensation
(c) Marked based sales organisation
(d) Demerits of Internal Sources of Recruitment
(e) Non-financial Motivation.
Y IWF Y
(31) FHA FreA

() wRufas = smg fafy

(W) 9INR-3muifa faswa S1ea
(2) wdt & s & #1 =l
(3) R-fecfta sifmRomd |

(3-37/11L-12084 P.T.O.



What are essential features of a effective compensation
plan ? 15
T TR Wi A @ st fid w=n € 2

Explain importance of motivation to sales force in a
business organisation. 15
w oty wet § fawawdis ® At w9
W S e H AU WY |

Explain various method of Performance Appraisal of
Salesforce. 15
fomn v @ P e @ fafem faf @ el
FHIFFT |

Explain important functions of a Sales Manager in a
firm. 15
Aﬁimﬂﬁﬁaﬂﬂaﬂ%mﬂm@ﬂ&ﬂ
FoiA Hif |

Elaborate different methods of development adopted to
develop salesforce in a company. 15
ﬁﬂﬂ&mﬁﬁmﬂ%@ﬂa%@m?ﬂ%ﬂ
AT R S § SR A RIS

L-12084 2

7.

(3-37/12)L-12084 3

What are essential features of an Ideal selection procedure

in case of salesforce. 15
frwg S I T O T AEY TE9 WREA H O
sTervas faveand ¥ 2

What are advantages of training of salesforce to a

wn

organisation ? 1

ﬁﬂﬂﬂmﬂmmﬂ%%mﬂ@ﬂq%ﬁww
Explain all important factors keeps in mind to choose a
effective sales force organisation. 15
ﬁmﬁmﬁamﬂﬁmﬂgﬁﬂu%m%&
YR I q@l # avH ST |

]
n
=
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BCO/D-17 12085
ASPEM
3CVoc)-506

3

Sules Promotion and Public Relations-i

=

Time : Three Hours] iMaximum Marks : 80

v

Note © Attempt Five questions in ali. Q. No. 1 is compulsory.
F9 uig T % I afNg 1 9w dem 1 afEd

"%

Y
g 1

1. Write short notes on the following : Sx4=20

{a) Mum._.nonmmw Award

(b) estival Offer

fey Lottery Coupon

{d; Free samples.

(e} Quantity Discount.
(31) ,.ﬁs RERK
(&) =R T9™
) %4 G
() 7R Sw
(3) ¥ 2 i

o

+

{3481 12088 2T.0.



2.  Define Sales Promotion. Explain the importance of sales 8. “Sales promotion scherpes should e run in shori-term
Promotion LN oniv.” Commant, '3

7:”3
4
.

fawg dadvn = aRtafe wifee « Towy dadq & CRmen gl g w5 SEe

I OCWRAT BT L | : nfEw 17 faur AhEn

3. Discuss various consumer oriented sales promotion

9. Write short notes on the following - 7-15
schemes is . o
fafir=y Jfﬁﬁﬁ fomrg Hade TRTel o goi I | () “hibitions
(by Fashion Shows
4. Criticelly evaluete sales promotion as a tool of (¢) Rebate as a tool of sales Promotion.
arketing. 15 fofg w7 Tfw S e
fawa wad F WG % W7 H (1) @mﬂ S
__ (a) TreE-h

5. Discuss .a%% UCE% as a tool of sales promoticn. 15 | () foha WPE w1 T ES

e & U 999 F ®Y § g

&

What do you mean bv sales contest 7 How do sales

)]

constests Hs,mE 1o promote sales ? 1
Y -

' § 3T 5 wﬂvﬁ.ﬂ.@w w. ? E.ﬂm;ﬂ ,.uu.m.m ,ﬁwmﬁdj
P@mﬂ% G ﬁ%fﬁﬂw >

ok

. What do you mean by sales conference 7 FExplain
the factors to the considered while orgaimsing saies
conierence. . 15
fapy wae 0 s o e ® 2 fawe oEEA w
A W W T TE T S 2@ S SR R

1-12085 2 Lo AT - L 2085



PR S BN DU S 4t
Sl LCT Laieiiva b total

cxplain any ‘en
income of an asscossee. 16
W oEE S W OWHEY A W R gE o WO

Write short notes on the following ¢

{11 Income from Lottery 8
(:iv  Profit or Less oun Sale of Securities. 8

e )
G TEER

i 2,000

it

ROIING. eeecvrceeernvcavennones

OBCQ/D-17 12086

INCOME TAX-I
BC-501

Total Pages : 16

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory and answer to each question
should not be more than one page. Candidate is required
to attempt any four questions out of remaining eight
questions. _

e T 1 AFEE €1 YE YR & S| UF U
Y T AR | YN N8 YR A " ®E Ul W
I |

1. (a) Explain Tax Planning. 3
FR- e -y |
(b) Define Casual Income. 3
AR 3 w1 IR HINT |
(c) Write a note on medical benefit. 3
gfasn w ww e fafam |
(d) Explain "Book Profit’ in firm. 3

wH ® ‘T o F OGAHARY |

(3-20/9) 1.-12086 P.T.O.



(e) What is Previous Year ? 2
T g FE 7
(f)  Write a note on House Rent Allowance. 3

TeH fewa s W A fafau

Explain how tax liability of an assessee is determined
with reference to his residence ? 16
wEE fafen o sem w1 w-afta sue famg-wm
% R W R yer fwife fear € 2

Mr. Singh is working in a Jute Mill Company at Kolkata
since 1st March. 2009. He is in the grade of T 7.000
— 400 - 16,000 — 700 — 23,000 plus a dearness m:o?mzom
@ 15 % of his basic pay, haif of which enters into
retirement benefits. He contributes 12% of his salary and
one-half dearness allowance to recognized provident fund
to which his employer contributes an equal amount. During
the previous year he togk a loan of ¥ 40,000 from his
povident fund for his daughter’s marriage out to which

he repaid ¥ 4,000 during the year has been deduction

from his salary.

L-12086 2

He has been provided with rent—{ree house owned by the
Mill, the fair rent of which is ¥ 44.000 per annum. He is
getting Conveyance Allowance of ¥ 600 p.m. for private
purpose, Medical Allowance of ¥ 400 p.m. and Servant
Allowance of ¥ 400 p.m. |

He received ¥ 1,20,000 for encashment of leave on Ist
September, 2016 being 10 month’s leave not availed by
him. As per the rules of the company Mr. Singh was
entitled to 30 days leave for every year of service.

He had been provided with the facility of a Gardener and
a Ooowv who are each paid ¥ 150 p.m. by the employer.
He is also provided with a small car by employer for
official and private use. Two children on Mr. Singh are
studying in the Institution run by the employer for which
no fees are paid. Expenditure per student per month is
% 600.

Compute Mr. Singh’s taxable salary for the Assessment
Year 2017-18 assuming that salary is due on the first day

of the next month.

(3-20/10)L-12086 3 P.T.O.



firey g 1 A4, 2000 &1 FEFE 5 T 52 fael e
¥ wERE ¥ 1 FE % 7.000 — 400 — 16.000 — 700 — 23,000
® GaTHE A € 991 39 99 g o7 F 15% HEME o«

oo & f599 9 o0 5% 7% el o % o

el WA © | g€ WHIU WHEEUZ FUET § AU gl ol
TEME 99 F 12% HIEM il € fres sHe frar ot
TR H IIRE FA L L W T4 H SE S T F
fooe & fau ot wifagve woe ¥ 9 ¥ 40,000 &1 ®O
forar fome @ 399 @ w9 4.000 ®1 FEE A FT
o A e T | .

54 foa & wiffe o o e § 999 7FE &1 giaa
firelt g8 € foran sfem fomn % 44.000 =it 5 1 <9
600 9fa W% war W st wam & fag, 400 99
Az fafewed o1 qen T 400 wia A Fe w9 @ F
39 1 fager, 2016 F1 FEFW & FREEO & €I H
% 1,20,000 Yt T3W, S 10 HWE H FHIFE A T FH
w1 ® | N % e % oEr fix fie weEw Y W
T & fau 30 &9 & o &1 A=l o |

IY TF Tl a1 U @R H gl off § 7 R, e
Yo #7150 Wf WE P 5N TEE i ¥ S8
W B wR % gfaw off Fraea 9 weiem @ s
v & fiu } w7 ) e foe S 9= fraean g

L-12086 4

IoU §F a1 faurerd | e W w § A fow g e
w9 A g € 1 WA m ufa " =mE T 600 BN ®
F-fruftor 719 2017-18 % fou for fiog & we-7mg 9
T MUAT FIfOW qA TE WA AN fF g9 grafee \w
F A R F UEd f&F TF TE@ B |

Dr. R.K. Gupta constructed a multi-storied building at
Moradabad consisting 16 flats of equal size. The
construction was stated in April, 2008 and completed on
31st March, 2012. Of these 16 flats. 8 were let out to
tenants for their residence, 2 to tenants for their businesses.
2 were used by R.K. Gupta for his own residence, 2 were
used by him for his own business and 2 were allotted to
two employees of Dr. R. K. Gupta’s business for their
residence and the occupation of these two flats by the
two employees facilitated the carrying on of his business.
The rent charged from each of the 10 tenants were ¥ 400
p.m. but from the two employees of Dr. R. K. Gutpa at
% 200 p.m. One of the tenants was in arrear of rent for
2 months during the year and was unable to pay the
same. (The conditions of Rule 4 are satisfied). After he

vacated the flat, Dr. R. K. Gupta had to wait for two

(3-20/11)] -12086 5 P.T.O.



months to get a new tenant. The expenses incurred by Dr.
R.K. Gupta in respect of the flats during the year ended
in 31st March, 2017 were as follows : Municipal taxes
for each flat ¥ 750; Cost of repairs for each flat ¥ 500;
Annual interest on loan for construction of house ¥ 24,000
(Loan was taken on 1st April, 2008); Fire Risk Insurance
Premium for each flat ¥ 100; Law charges in connection
with a lease agreement with tenant of each flat ¥ 500.

Compute the income from house property of Dr. R. K.
Gutpa for the Assessment Year 2017-18. 16
T IR F TR A WEER H T T FG-HAA ARG
fomior s, e a0 & 16 R 9 | 3% fAi s
e, 2008 H W fdar @en 31 Wi, 2012 I WA
[EXI

16 " H ¥ 8 W i 1 e st % fag
fFa = 3ar Ky, 2 ®ie fFERN # AR # 3vg @
fore, 2 W €. R @, A H = F A # e @,
2 Wiz AT HOR & T qen 2 W T AR &, TE A
I AR % FHARA H Fram gg 331 faw, 59+ s=
T § @A S AR % GH HEer ® fau smevas

L-12086 . 6

o1 | 10 TFTae ¥ 9 v9F 9 T 400 9id 9 feu fomn

g 1 R T T w2 s 9 v 9 %200

N

yfa o few o s T | e 4 9w R

W 2 HE F1 f&uw g@men oo | fow o 39 H s uny
(fraw 4 =1 v @ &7t € 1) SHF geE well wW %
TR T A F TN AE TF AR HEN TS, q9 % A9
fetmRr faem 1 31 9, 2017 &1 @99 B9 o 99 H
U 3ORE % T § e oy 5y T-ueE W %
fau TRafeFr T 750, TOF R FH OWEG AN
3500, 3HRG & f9901 3q foU U mw W = € 24,000

(FW 1 I, 2008 1 EH M) WEHF W HoAH
wifgs & difem % 100, Y R & FRUEER 9
PR wigm $3@ % g=y ¥ OFE =3 €500
L w1 F-FURO F9 2017-18 & fAu meH-wEa
Y9 w1 F-ATG MF FE FHIWC |

Explain clearly the deductions that are expressly allowed
in computing the income from business under the Indian
Income Tax Act, 1961. 16
MR F AG AT FEH OH EE fufEd, 1961 &

N

ST TORd: WEd Heddl Tl IR |

(3-20/12)1-12086 7 P.T.O.



6.

Mr. Rajesh purchased 800 equity shares of T 10 each for ?
55 per share of 1st Jan., 1989 and paid brokerage % 1.000
and transfer fees T 500. On 1st Sépt.. 1991 the company
issued 200 bonus shares to him. On 1st November, 2013 the
company issued 500 right shares at the rate of 30 per share
to him. On 1st October, 2016 he sold 200 bonus shares and
300 rights shares @ ¥ 120 per share. On 1st Januarv. 2017
he sold the total remaining holding @ ¥ 200. Compute his
taxable capital gains for the assessment year 2017-18 if
computation is based on :

(1) Index Cost

(i1)  Original Cost of acquisition.

Also point out that which option is better 2 Cost inflation
indices are 1988-89 161; 1991-92 199; 2015-16 1081:
2016-17 1125. He has not paid securities transaction
tax. 16
A TSt 3 1 Sed, 1989 %7 T 10 A 800 WHAT Sfw
¥55 9fd e 1 W W FF FY SR T 1,000 T qen
TR0 Yok % 500 gomn |1 fagm, 1991 &1 s
4200 99 oo RF 11 qEER, 2015 1 FEE 3 S

L-12086 3

300 shEr e friea e 1l
o, 2016 @ $H7 200 arm e 3R 300 STHUER

| fﬁ%ﬂﬂﬂﬁlﬂﬂﬁwo:ﬁ
R o A -

ﬁc&mmﬂ%ﬁd

=% vy owe ¥V 3

Frfrien =4 1017-18 ¥ T Tod oA el A
e .|A ‘mwy,.u .\~ = PR

7
4..n1.ﬂ|1.
EAIRIEIE

ﬁ%ﬂ:ﬂ%_iw.
T IO ki STl

(i1) g FW # ga A ® SR
g
7g 9age &
T 1088-89 F 161, 1991

~e - & . ~ . ﬁ ﬁ
1081, 2016-17 F 1128 2 1 A yfagfd TFaER

g fHFe g g 7 A whifa
92 H 199, 2015-16 -t

L St
= Toaplam the todlowing

Soonrities

: Nl b
{ Py elTed Mnet

v tan overinen Securtties.

w Ad FOAEU

e ol Ul Rl

(1

titt

(3-20./ B -1 2080
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BCM(12-14)/D-17 12151
CORPORATE ACCOUNTING-I
BC-302

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Iy

Al questions carry egual marks.

fF ofa wedl = v Aifeu | uee Tem g

2 I ..
FORNE B SA 1 I 42t B A= Y = g 1

{Comptoery Cucstion)

 arfrard et )

1. Wate shorm notes on the wing :

(a; Dfference between preterence share and equity share.

L

(b} Right shwes

(dy Profit and Loss Appropriation Account

(e} Dividend

LI S Y

(f;  Amalgamation i the nature of Merger.

(3-32/I2 12551 PT.0.



Frafafen w wfie femfiral fafan
(37) @EfeFR 9 & T §F s
() fvwr T a1y

(F) =93 M @y

() a9-wf wumEee

(3) <

(%) fasor &t wft = wwiwor |

The Hisar Cloth Mills Ltd invited application for 10.000
shares of ¥ 100 each at a premium of ¥ 10 each payable
as below :

T 50 on Application

T 35 on allotment (including premium) and

< 25 on call.

Applications for 15,000 shares were received. Applicants
for 2500 shares did not get any allotment and their money
returned. Allotment was made pro-rata to the remaining
applicants.

Mr. A was allotted 400 shares. He failed to pay the
amount due on allotment and call money. The company
forfeited his shares and subsequently reissued at ¥ 105
per share.

Show that journal entries and cash book entries in the

books of the company and also prepare the Balance Sheet,

L-12151 2

feam wenor fiem f4 9 2 100 =t 10,000 won =+ oo
10 99 &% ol W fa weR wel-us smmfem
fFe

350 We-u9 & @iy

I35 €T W (yomfst wieq) e,

325 g W

15,000 ¥ & faq weiT-w3 W wu 1 2,500 siet 5
Wil ® FE st s s W fewm omr st s
ﬁ%mﬁﬂ_%ﬁmﬂﬂﬂg@%ﬂaﬁ
@ﬂﬂ_ﬂ.mﬂéoﬂﬂ%ﬂ”&@mﬁ@_ﬁ
WA W T G A AE U sr A W G
ﬁwﬁﬂﬁmﬁﬁsﬁ@ﬁkﬁ%ﬁw&w
105 9fd &9 = q: frifag o fear |
ﬂﬂ%ﬂmﬁimﬂ#mﬁdﬁmﬁﬁiﬂﬂm
o1 fagar f dar Fifw |

Describe in detail the various methods for issuing of

shares. 16

ﬁ%%%%gﬂgﬁgﬁ&ﬁﬁ_

(a) Write in detail about issuing of right shares and its

advantages. 8
g%ﬂ&%?ﬂu%%mgﬂ
fafge | o @ v o F AR ¥ o
HifT |

(3-32/13)L-12151 3 P.T.O.



The issued share capital of Z Ltd. consists of
2,00,000 equity shares of ¥ 10 each fully paid. The
company offers new equity shares to its existing
shareholders on right basis of 1 : 1; the equity
shares ot ¥ 10 each being offered at a premium of
¥ 10 each which are payable as follows :

On Application On Aljotment

4 ¢

share Capital

5
Securities Premium 5 5

price o application. Another sharcholder holding

AGU shares faifed 1o pay the allotment money and

hiis shares

sce subsequently foreited. The forfeited
shares were rvissued as fully paid for % 8.000 in
. ) T [ < N -

cash. Jouwrnaliss the transactions. 8
Z fa =t I 2,00,000 9Ha@ o9 & €

L)

fred T oW T10 R wEA Y oY adEm
Forafa F) v guar 319, AfueR I o F =
9 o ofurifEl W efeR w1 wE du oy
710 Wit M e wER ¥ fRw owmdwm . ¢

4

‘ TH UEA 9 600 S o9 399
T AT AAT e e %) W o Fowgw
for Wer oy S T
STERT W] TR SUF A

IO T

SR

RS

S0V e e mean By Boos whares In wna

S usutied 7 St brielly the

¢ ofissoing bonus shares, 16
3 ams W TmE fadag
wiEY % e ug s #

6. The toliowing halenees appa

Paper Td, as on Ist oo i,
7 Debenturss z
Siriking tund

Siking fund

Investments (Face vilue) 4

(3-3214)-12151

2

PT.O.



Interests on investments is received on 30% Sept, and
315t Match (@8% p.a. Annual co ntribution (o the Sinking
Fund was T 25.000 made on 313 March every year
Debentures fell due for pavment on 31% March, 2016.
The company carried out the redemption by the sale of
sinking fund investment at 95%%. Oun that date the balance
at bank stood at ¥ 72,000 (before interest on investments
has been received). Pass journal entries and prepare ledger

accounts arising out of above.

12% B0 T 2.00.000
7 1,50.000

fafen ¥e 0
g Qﬂﬁf 1 geg) ¥ 1,70.000
o o 20 foamER 3 31 WE R 8% Antsd &
%ﬁﬂgﬂﬂﬁg | wfg 99 31w & TR
= § 725,000 F1 sREA B S €0 31 "W, 2016
UG ie: For 4 fafEeT %7
95% T FHIEHT Eﬁl E ﬂmﬂ Fm 1 TE
fz3 §% # v T 72.000 @ (F == wid §
)

ﬁmﬁﬁﬂ%%ﬁﬂ%n@ﬁ&mﬁ@%@awﬁ
T |

L-12151 6

Distinguish between Profit and Loss Statement and Profit
and Loss Appropriation statement. Prepare a Profit and
Loss Appropriation statement with the help of emaginary
figures. i
T3 faae SR A wnEreE e  ea S
T nE Y-EH S

The Balance Sheet of XYZ Co. Lid v
2015 was as follows
Particulars :
{. Equity and [ iabiliues :
Shareholders Funds :
Share Capital :

=

32.000. 6% preference shares < 10 carn

fully paid 3
96.000. Equity shares of T 5 each tuily pasd  4.50,000

$.00,000

General Reserve
Profit and Loss Balance 144,060
Non-Current Liabilities

3% Debentures 1,92,000

Current Liabilities :

Trade Payables 326000
T66.600
(2-32/45)L-12151 7 . PTG,



< (b)  The preference shares to be reduced to ¥ 5 each.
II. Assets

] (¢)  The equity shares to be reduced to ¥ 1 each.
Non-current Asscts (d) The assets to be brought to the revalued figures and

Land and Building 3,84.000 the debit balance of the P & L a/c to be wiped out.
Plant and Machinery 3,60,000 Draft journal entries to give effect to the above scheme
Goodwil] 2,40,000 and prepare the revised balance sheet of the company. 16
Current Assets | XYZ fa. #= %1 31 =1, 2015 drw vz e wen
| N @

lnventories 64,000 bt : 1w T g — T -

128,000 € S AT W 1 el o e g w

s 9.60( & 4

1169600 I 5 % R rfr
YR

o ane assets, 1t was found thar goodwil]

P-1214% 8

L eemiess s e other assets were overvalued 10 the . ;
T e T X 10 YoieE # 3,20,000, 6%
EeliReade N 3,20,000
T 64,000 and Plant and Machinery THF TS IoRR 96000 qUaT 39T 4,80,000
by ¥ BE.00U. . neevision for doubtful debts to the exten: 8,00.000
ol ¥ 8,600 wag necessary. _ 1,600
I . - it a9 vy 1,44,000
L OSOWINnG sonens of feorganization was approve ,
© PP d R-wrg Al -
cour . 5% FOTqH 1,92,000
i dc pavabies 10 accept 6% debentures to the exteni = Sifas
©f 50% of their claims the balance to be paid in - R 3,20,000
6 wonths afier the date. . , E
(3AVI8E 12181 9 P.T.O.



L. geafaa

doarg wHfE

af @ Hed 3,84,000

s wd TR 3.60,000

warta 2,24,000

e gt

= 64,000

s W 1.28.000

b 9.600
o
11,69,600

%%ﬁ%ﬂﬁﬁﬂ@%ﬁﬂﬁm
w%ﬁﬂﬁ%ﬂﬂiﬂ%ﬂmﬂﬂw”
gf a W 7 64,000 W, @ T TeEd T 88,000 .
gy ®mOl & fag wEur 7 8,000 TH IETAE FH
ﬂ_%%%%ﬂﬂ&ﬂ%%"
(1) %ﬁa&»gﬁﬁ%%ﬁﬂ?ﬁaﬁ
%ﬂﬂm@ﬂ%d@ﬁmﬂ%@“ﬂamﬂmﬂ

1-12151 10

9.

(@)

(b)

Distinguish between Amalgamation, Absorption and
Eternal Reconstruction. 8
mmﬁﬁ%@ﬂﬁm@mﬂﬁngmﬂﬂﬁﬂ
Frag |

What journal entries are passed 1n the bnoks of
rransferor company in casc of an amalgamarion 28
T § et w1 W ¥

(3-3217L-12151 u 400
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BCM(12-14)/D-17 12152

COMPANY LAW
BC-3035
Time : Three Hours} [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
Fo uig Y ® I AR | WA gen 1 e
o oy # oo W §

1. Compulsory Question :
(i) Define a Private Company.
(i) Who is a Promoter ?
(iii) Define Articles of Association.
(iv) What is difference between member and share
holder ?
(v) One-man meeting.
(vi} Who do you mean by minimum subscription ?
stfard o9 :
() =t weEr @ ufeaw @feo
(i) vod® &H Ba T ?
(iii) Wiy safEe ol i wifey |

(3-43/1) 1.-12152 P.T.O.



Qi.ﬁeﬂ,ﬁ,mﬁﬁﬁm&mﬁjdw
(vy T wIfaq F OO )
(vi) T e ¥ W osfaum 7

“Company is an artificial human created by each with a
perpetual succession and a common seal.” Explain this

statement and peintout basic features of company.

Haerll faum g i o6 5hm safa @ free

Tege Hen Aeger B 2 1’7 T FeH ® =ren wiu
Y TE FEA F AERYT fgerman qaEe

Define Memorandum of Association. Name its clauses.
When

Tz Tem w vty #ifeu ) 3Rew 9w ¥ F9 oad
#u e fFo oW oFa § 2

d how object clause can be altered.

Explain the “Doctrine of 1/itra-mines™ and state effects of
tra-mines Transactions.

“wfymE W 9w wE ¥ W #
FHUFR F TR FEER F 99 I8y |

EHECAIC T

What do you mean bv nrospectus of company ? Explain
its contents. Under what ¢ircumstances company need not
to iSsSues prospectus.

FE] WaeRwl 1 98] @4 g 2 T g &1 ave eI |

3

SravaFal JEl BE T

”~

st
™’
id

Define Member. Who and how can a person become
member of a company ?

T F RO RINU | PE SR gan 9 FEE §
e g9 HaHal § 7

How directions are appointed. Discuss power of direci.... 7

o ) o~ o - N -, R R L
qaesRl = FgfE fee wR o w oWl ® 7 gerem] @
A &1 T e |

Discuss the rcquisites of valid general meeting.

AY WHES (FATTE) WE H A0 @y v wfen

What is meant by reduction of share capital ? Fyplain the
circumstances and procedure necessary for rzducing the

share capital of compaiy.

> e

N

FIH WY

(3432 1.-12152 3 354
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BCM(12-14}/D-17 12153
BUSINESS STATISTICS-I
BC-304

U

Viiwe : Three Hours} [Maximum Marks : 80

Note ©  Atempt any Five questions. Q. No. 1 is compulsory.

All questions carry equal marks.
= ufer woA & o Afwe | W gen 1 st
& omsft yvR F s mAA €

{Compulsory Question)

( 3tfaard gvs)




1-12133

Tr=fofea w wfaw feofirl fafea .
(31) 3IYHEA 1 "2

(F) wem, Wit 3R wgas ¥ gEe
(W) w91y fauwm

() wurg faum

(3) wdTmE favemo

(%) oT=el gasiw &1 qhend |

Differentiate between primary data and secondary data.
Mention any four precautions to be considered in the use
of secondarv data. 16
wafas ag fediaw gl ® dm ww s 1 fw
Hqwgl F YA HwW GEA fEE SR Gt w5 e
w1

What is an Average ? Discuss the sailent features of

goods average. 16

HT TR 7 uEk o IhEd ® T faeeand wawRy |

From the following data, state which series is more

consistent : 16
Variable Series A Series B
10-20 10 18
20-30 18 22
30-40 32 40
40-50 40 32
50-60 22 18
6(-71; 18 10

[

= Tl ¥ 9w Fifu fe smd 9ot sifus feem 2 0

= LUt A suit B
10-20 10 18
20-30 18 22
30-40 32 40
40-50 40 32
50-60 22 18
60-70 18 10
5. Calculate the Rank Correlation from the sales and expenses
of 10 firms as given : 16
~ Sales Expenses
50 i1
50 13
55 14
60 16
65 16
65 5
65 15
60 14
60 13
50 13
(3-41/14L-12153 3 1.0,
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The tollowing fable gives the aptituds test scores and

productivity indices ol

Aprtitude Productivity EE 6o
Test Index fH5 60
60 68 &7 81

62 50 WHETN FE ETE0 U

< . I o TRT fEEps T




Calculate the index

of Reai wages fit

information usmg 2007 as base vear

Years Average Monthly

2001
2002
2003

wages (Rs.)
120

f—
Lad
I

i

A R
[V

~1

Consumer

Price Index
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(a)

)

Find the area between the curves x2 = 4y and

= 4y — 2. 7
12X -+ 3Y 12 3 gna3x s 2v -2 2]
i \w -t ”w = 4 + = .
la o] ™ 1 =5
find X and Y. 8
R . |
If .>n’ 4 and f(x) = x2 + 5x — 6. find F(A).
7
Fvaluate : 8
1 x »yz
1 y zx
1 z xy
Solve .
2x + 3y + 10z = 4
4x — 6y + 5z = 1
and 6x + 9y + 20z = 2
by Crammer rule. 7
Solve
x + 2y + 52 =10
-y - z = -2
and 2x + 3y —z = -11
by matrix method. 8

[

(by Find the inverse of A=
clementrary row operations.
: N dy
7. (a) Iy =¥ find —-.
dx
(b) Find the !
function f(x) = - )t
20 -1
- | o
8. (a) IfA=}5 1 0 |. show that :
o 1 3]
A —6AZ+11A -1 =1L
(b) Show that
_w d lw_om
i.aamf_\wﬁl 2
{Compulsory Questicn)
{5 3\ dy
9, (a) If y={x"+- M!w find ——.
AN ¥ dx
. { L .”m.w.
Awu\v H w = hxf ﬁz\wg ,Q..X.
(3-36/11E.-12165 3
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BCE({10-13)/D-17 12166
FINANCIAL ACCOUNTING-I
BC-103

Time @ Three Hours] [Maximum Marks : 80

Nete : Attempt Five questions in all. Q. No. 1 is compulsciy.
All questions carry equal marks.
FA UE F F TR DRI U weAr 1 afer
T W @ owm owwE 7
1. Short answer type questions :
(a) Matching corcept
(b) Personal Account
M_Q Composite entry
() Coempensatory error
(e) Difference between depreciation and depietion

e
€
%

i
R

Expired cost.

| -

. Defire accounting and explain various functions of

accout

3. Justify the need of accounting standards. How accounting

standards are formulated in India

(2-44/14)§ .-12166 P.T.0O.
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Stock 1.250

1.8

Depreciation 6
Commission {Cr) 2

Insurance 380

Carriage inwards

=

Furniture 670
Printing charges 481
Carriage outward 200
Capital 9.2

Creditors 1,78

B.P. 54

Plant & Machinery

Return Outward

Cash in hand
Salaries

Debtors

Discount (Dr.)

B.R.
Wage

Return nward

Bank overdraft

Purchases
Petty Cash

RBad debts

The value of closing stock was Rs. 3.700.

Describe various types of

of identification of errors

A company purchase

Depreciation was provided

o

ervors and explain the

e 10%0 per annun

method. The company decided w preciation

@ 13% on diminishing balance {he
machine was sold for Rs. 12,0600 op 1-07-2011. Frepare

machin account.

Prepare proforma receipt and payment account for o non-

15Sation.

profit

Explain the following and pass adjustinent eniry in respect
of

(a) Outstanding kExpens

(b) Interest on capital

(<) repaid m%a:ﬁ:

3ad De

p—
S’
o)
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BCE(10-13)/D-17 12167
BUSINESS MANAGEMENT-I
BC-104

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any Five questions. Q. No. 1 is compulsory.
Attempt four questions from the remaining eight
questions. All questions carry equal marks.
frl ufer wedl @ S| dfSg | oy e 1 afed
21 3w o6 W H @ R T sl Wi | wsh
v ® oiw WA § |

(Compulsory Question)

( fErd ue)

1. (a) What is Line Organisation ?
Y@l e #E ?
(b) What is SWOT Analysis ?
SWOT faweromr 1 2 2
(¢) Write a brief note on ‘System Approach’ of

Management.

v ® oyl gfesim wodfyw A fafew

(3-48/5) 1 ~12167 PT.0.



(d) What is the interpersonal Role of a Manager ? 6. At what occasions decision making is required ? How

TF FEHE H SqSarET Clcafic B S decision-making can be improved ? 16
(e)  What is Macro Environment ? omm #1571 s v e TEHt ® 7 folgm § feg
A e = oE 2 R GUR & s awar &
()  What is Stressors ? 16
Bl 7= & 2 7. What do you understand by departmentation on the basis

of matrix ? Explain the merits and demerits of matrix
2. “Anything minus management is nothing.” Explain this

organisation. 12
statement. , 16 A & SR T faeie @ e wn s S
:ﬁmgmﬁﬁn@mﬂmﬁmﬂmﬁﬁa%%mﬂ m@ﬁﬂﬁ%ﬁﬁm@ﬁ%%f

T T ? 1 T s W e i |

8. “The question is not whether there should be

3. What is Planning ? Describe in brief the steps involved decentralisation, but decentralisation to what degree.”

in the process of planning. How and why is each step

Comment, 16
important ? 16 | YU TR T R s e s ow T afes
frarm =1 2 2 fece e § it feg R T 7% ¥ fF fadsie B oam e e 0 o wem w
FH F T A ol HINT | T wew = sk B e i |
S T 2

9. Explain the techniques of Time Management. 16
4. What is MBO ? Discuss its benefits and weaknesses. 16 T Y W TR w7 A Ff |

5

Zwoﬂwwﬁ%%ﬁmﬁﬂgﬂﬁﬂﬂ@mm

5. What is “Functional Organisation” ? Discuss its features

advantages and disadvantages. 16
ThaR W’ @ R 2 T favivand @ wifie
EEER

L-12167 : 2 (3-48/6) 1.-12167 3 v 1,000
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~ BCE(10-13)/D-17 12168
BUSINESS ECONOMICS
BC-105
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulosry.
Student are required to attempt four questions from
remaining eight questions. All questions carry equal
marks.

Fe 9 T % W AR | oy em 1 sitEd
T | foeneff B Vv oo v F @ wW w sl wW
ot wH ® o wEm €

1. Write short notes on the following :

(i) What is Opportunity Cost ?

(1) Define income elasticity of demand.

(ii1)) What do you understand by law of variable
proportions ?

(iv) What is the basic problem of an economy ?

(v) How will you measure elasticity of demand by
N.ZQ,mMo revenue and marginal revenue ? .

(vi) Write down five points of Importance of elasticity
of demand. _ 16

(3-48/3) 1 -12168 P.T.O.
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frfafee w dfia femfor fafee .

() ST A F T T2

(i) WM F @ om W ufan Sfww

Ammmvmﬁmﬂmﬁﬂa%?ﬁﬁﬂd@‘ﬂﬁm_

(iv) STefemaTen &l STURYE |we= &1 g Gfsm

(v) 3lEd 3mm iR drd e g Wi H elieeied
Y A 2

(vi) HIM ! dEviear & Hew @ U wWge fofau |

What is Price mechanisms ? Discuss the working of
Price mechanism. 16
HIEd G99 T € ? H9d G99 F FEAF i fag=

HifST |

Define Price m_wmmow&\ of Demnd. Explain total outlay
method, point method and revenue method of measuring
elasticity of demand. 16
A W wEd A" w1 IRamw ST L w R @ w
o w e o fafy, emm fafu ok fag fafu =t
A I |

Explain the laws of returns to scale. 16

T & yfdwd & faa # s sifae )

What is an isoquant ? Explain the properties of an

isoquant. 16

qA-TNE 9% o ¢ 7 SAHT ¥ favwad g ?

L-12168 2

6.

Explain various short Sun cost curves. What is the

relationship between average cost and marginal cost ? 16

IEFTAN A T # A= v cw oavwe siteu
sired o Te Wi A ¥ ogE § 7

With the help of diagram and table explain average
revenue (AR), marginal revenue (MR) and total
revenul (TR). 16
AMTH H AT FHT

Explain internal and external economies of scale. 16

AR TS 9 9@ i SArRed Hifew |

Write short notes on the following : 16

(a) Difference between law of variable proportions
returns to scale,

(b) Economic Cost and Social Cost.

frafafee = wfyw feafrr fafa -

(31) W=d Sgd YA F1 g9 @ Yo # ufdwa §
AT |

(9) Nf*% ora @ AESE o |
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